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gm‘mÝ` {dkmZ : ‘mZdr Ordemó, Amamo½¶ Am{U Amhma{dkmZ

1) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW
1) ‘mZdr MoVm d g§doXZ g§ñWm
2) ‘mZdr nMZg§ñWm
3) ‘mZdr ídgZg§ñWm,
4) ‘mZdr aº$, é{Yam{^gaU
5) ‘mZdr ñZm¶y d AñWr g§ñWm
6) ‘mZdr A§V…òmdrg§ñWm/ g§àoaH$/Z{bH$m{da{hV J«§Wr  g§ñWm
7) ‘mZdr CËgO©Z g§ñWm
8) àOZZ / nwZéËnmXZ g§ñWm
9) OI‘m, q’$JaqàQ
10) ‘¥Ë¶y, ed{M{H$Ëgm
11) ~bmËH$ma, J ©̂nmV, qbJ{ZXmZ MmMUr
12) AZwdm§{eH$Vm, amoJà{VH$maH$Vm

2) Amamo½¶ Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m¶©H«$‘
1) Amamo½` Am{U amoJ
2) amoJàgma d H$maH$ KQ>H$
3) amoJmMr bjUo
4) amoJ{ZXmZ
5) Amamo½¶ H$m ©̀H«$‘
6) Hw$Qw>§~H$ë¶mU H$m¶©H«$‘

3) Am¡fYo Am{U bgr
1) Am¡fYm§Mo òmoV d {Z{‘©Vr
2) {d{dY amoJmda à^mdr Am¡fYo
3) bgr
4) Am¡fY {Z¶§ÌU H$m¶Xm d Am¡fYm§Mo Xþîn[aUm‘

4) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo
1) Cî‘m§H$, AÞ d nmofH$ KQ>H$
2) H$~m}XHo$
3) à{WZo
4) pñZ½Y d ‘oX nXmW©
5) jma - ‘°H«$mo d gyú‘ nmofU Ðì¶o
6) OrdZgËdo
7) nmofU H$m¶©H«$‘ d Amamo½¶
8) Amhma - H$wnmofU, AÞ Am{U nmofU H$m¶©H«$‘
9) AÞà{H«$¶m
10) AÞgwajm d H$m¶©H«$‘
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‘hmamḯ> amOn{ÌV ZmJar godm nyd©narjm : gm‘mÝ¶ AÜ¶¶Z nona (1)

gm‘mÝ` {dkmZ 20  ‘hÎdmMo  ‘wÔo
1) JVremó, CîUVm
2) bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
3) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ-{H$aUmoËgm[aVm, IJmobemó
4) AmdV© gmaUr - ‘ybÐì¶o d AUwaMZm
5) X¡Z§{XZ dmnamVrb g§̀ wJo - YmVy, AYmVy, jma, B§YZo, dm ỳ, IVo
6) amgm`{ZH$ A{^{H«$`m - Amåb, AëH$br, g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$
7) noer{dkmZ d M¶mnM¶Z
8) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
9) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ
10) dZñnVtMo dJuH$aU Am{U CXmhaUo
11) H¥$fr{dkmZ, dZemó d n¶m©daU
12) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

13) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW,
14) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘
15) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo

16) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ajU joÌ,  g§ñWm, d¡km{ZH$
17) {dkmZ {dH$mg, V§ÌkmZmÛmao Amamo½¶ d {ejU joÌm§Mm {dH$mg
18) Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m
19) A§Vami {dkmZ - [a‘moQ> gopÝg¨J, E[a¶b d S´>moZ ’$moQ>moJ«m’$s, OrAm¶Eg Am{U Ë¶mMo Cn¶moOZ
20) nm¶m ŷV {dH$mgmVrb V§ÌkmZ - dmhVyH$, µJ¥h{Z{‘©Vr, D$Om© V§ÌkmZ

1) JVremó d CîUVm
1) JVremó
1. ‘yb ŷV d gm{YV EH$Ho$
2. ^m¡{VH$ amer d KQ>Zm - JwéËdmH$f©U, n¥ð>VmU, Ho$erH$Ëd, KfªU
3. JVremó - JVr, doJ, g§doJ, ËdaU, ~b, H$m¶©, Xm~, eº$s, D$Om©

2) CîUVm
1. Vmn‘mZ, gmnoj d Jwá CîUVm
2. CîUVoMo dhZ, A{^gaU, CËgO©Z
3. AmÐ©Vm, erVJ¥h
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2) bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
1. àH$me bhar
2. ÜdZr bhar
3. {dÚwVMw§~H$s¶ bhar

3) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ-{H$aUmoËgm[aVm, IJmobemó
1. {dÚwVemó d Mw§~H$Ëd
2. AUw{dkmZ-{H$aUmoËgm[aVm
3. IJmobemó

4) AmdV© gmaUr - ‘ybÐì¶o d AUwaMZm
1. AmdV© gmaUr
2. AUwaMZm
3. ‘ybÐì¶o, g§¶wJo d {‘lU

5) X¡Z§{XZ dmnamVrb g§¶wJo -YmVy , AYmVy , jma, B§YZo, dm¶y, IVo
1. YmVy d AYmVy
2. jma
3. B§YZo d dm¶y, IVo
4. ‘hËdmMr g§¶wJo

6) amgm¶{ZH$ A{^{H«$¶m - Amåb, AëH$br, g|{Ð¶ agm¶Zemó - hm¶S´moH$m~©Ýg, H$sQ>H$ZmeHo$
1. amgm¶{ZH$ A{^{H«$¶m
2. Amåb d AëH$br
3. g|{Ð¶ agm¶Zemó - hm¶S´moH$m~©Ýg

7) noer{dkmZ d M¶mnM¶Z
1. noer{dkmZ - noer KQ>H$
2. M¶mnM¶Z - Am°p³gídgZ
3. OZwH$emó
4. CËH«$m§Vr

8) àmÊ¶m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
1. àmÊ¶m§Mo dJuH$aU Am{U CXmhaUo
2. àmUr eara{dkmZ d M¶mnM¶Z

9) Cn¶wº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì¶dgm‘, Hw$ w̧$Q>nmbZ
1. Cn¶wº$ àmUr - newnmbZ, Xw½Yì¶dgm‘, Hw$ w̧$Q>nmbZ
2. hmZrH$maH$ àmUr
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10) dZñnVtMo dJuH$aU Am{U CXmhaUo
1. dZñnVtMo dJuH$aU Am{U CXmhaUo
2. dZñnVtMo eara{dkmZ d M¶mnM¶Z

11) H¥$fr{dkmZ, dZemó d n¶m©daU
1. H¥$fr{dkmZ
2. dZñnVr - amoJ
3. n¶m©daU
4. dZemó

12) Cn¶wº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr
1. Cn¶wº$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr
2. Zm¶Q´>moOZ pñWarH$aU
3. hm{ZH$maH$ dZñnVr

13) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW
1. aº$m{^gaU
2. nMZ g§ñWm
3. CËgO©Z g§ñWm
4. ñZm¶y d ApñWg§ñWm
5. g§àoaH$ g§ñWm
6. MoVmg§ñWm

14) Amamo½¶ Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m¶©H«$‘
1. amoJ - amoJàgma d H$maH$ KQ>H$
2. amoJ{ZXmZ Am{U CnMma
3. Amamo½¶ H$m¶©H«$‘

15) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo
1. AÞnXmW©
2. ‘°H«$mo d gyú‘ nmofU Ðì¶o
3. OrdZgÎdo
4. AÞà{H«$¶m

16) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
17) {dkmZ {dH$mg, V§ÌkmZmÛmao nm¶m ŷV gw{dYm§Mm {dH$mg
18) Am¶grQ>r - BboŠQ´m°{ZŠg, H$å¶w{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>¶m
19) A§Vami {dkmZ
20) D$Om© V§ÌkmZ
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‘hmamḯ> amOn{ÌV ZmJar godm nyd©narjm 2023

gm‘mÝ¶ AÜ¶¶Z nona (1)
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ‘hmamï´> Am{U ̂ maV - ̂ maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby KS>m‘moS>r - amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)

100  ‘hÎdmMo  ‘wÔo  : gm‘mÝ¶ AÜ¶¶Z nona (1)

1)  ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ̂ maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ ̂ maVmMm B{Vhmg (3)
3) AmYw{ZH$ ̂ maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)
* dmñVwH$bm, gm{hË`, gm‘m{OH$ gm§ñH¥${VH$, amOH$s` Am{U Am{W©H$ B{Vhmg

1) qgYy Imoao Am{U àmJ¡{Vhm{gH$ H$mi
2) d¡{XH$ g§ñH¥$Vr, ~m¡Õ Am{U O¡Z Y‘©
3) ‘m¡̀ © gm‘«mÁ` Am{U Z§Va, Jwá, dY©Z Am{U Z§Va
4) gmVdmhZ, dmH$mQ>H$, MmbwŠ`, amï´>Hy$Q>, {ebmhma Am{U `mXd, X{jU ^maV
5) {X„r gëVZV Am{U ‘wKb gm‘«mÁ`
6) ^º$s Am{U gw’$s Midi
7) ~hm‘Zr Am{U {dO`ZJa, ‘amR>m gm‘«mÁ`
8) A±½bmo - {~«{Q>e ẁÕo Am{U {~«{Q>e amOdQ>
9) KQ>ZmË‘H$ H$m`Xo, Am`moJ, H$ama
10) gm‘m{OH$ d Ym{‘©H$ gwYmaUm, g§KQ>Zm
11) {ejU, d¥ÎmnÌo Am{U ZoVo
12) amï´>dmXmMm CX`, H$m±J«og Am{U ‘hÎdmMo ZoVo
13) H«$m§{VH$maH$m§Mm amï´>dmX, eoVH$ar Am{U H$m‘Jma Midir
14) ñdmV§Í¶ Midir - ñdXoer, Agh`moJ, g{dZ` H$m`Xô §J, ^maV N>moS>mo
15) ‘wpñb‘ brJ Am{U BVa, ñdmV§Í¶moÎma ^maV Am{U g§̀ wº$ ‘hmamï´>



‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 7

For Private Circulation Only

2)  ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ̂ m¡{VH$ ̂ yJmob (3)
2) OJmMm gm‘m{OH$ ̂ yJmob (1)
3) OJmMm Am{W©H$ ̂ yJmob (1)
4) ^maVmMm ̂ m¡{VH$ ̂ yJmob (2)
5) ^maVmMm gm‘m{OH$ ̂ yJmob (1)
6) ^maVmMm Am{W©H$ ̂ yJmob (2)
7) ‘hmamḯ>mMm ̂ m¡{VH$ ̂ yJmob (2)
8) ‘hmamḯ>mMm gm‘m{OH$ ̂ yJmob (1)
9) ‘hmamḯ>mMm Am{W©H$ ̂ yJmob (1)

16) gỳ ©‘mbm Am{U n¥Ïdr, Ajm§e, aoIm§e, doi
17) ŷH§$n Am{U Ádmbm‘wIr, ^m¡Jmo{bH$ d¡{eï²> ò, ZÚm Am{U àH$ën
18) dmVmdaU Am{U hdm‘mZ, dmam Am{U ‘hmgmJa àdmh
19) OmJ{VH$ bmoH$g§»`m, ^mfm, d§e, ^m¡Jmo{bH$ amOH$maU, OmJ{VH$ ñWmZo Am{U gr‘m
20) OmJ{VH$ I{ZOo Am{U D$Om© g§gmYZo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, dZrH$aU Am{U n`m©daU, H¥$fr
21) ^maVr` CnI§S>mVrb CËH«$m§Vr Am{U ŷê$nemó
22) à‘wI ^m¡{VH$ àXoe - {h‘mb`, nd©V, nR>ma, dmid§Q> joÌ, {H$Zmar ^mJ, ~oQ>o, ZÚm Am{U àH$ën, nmD$g, hdm‘mZ
23) bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ^m¡Jmo{bH$ amOH$maU
24) ^maV : H¥$fr, dZñnVr, I{ZOo Am{U D$Om© g§gmYZo
25) ^maV : CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma
26) gømÐr Am{U Ë`mÀ`m nd©Vam§Jm, ZÚm Am{U YaUo
27) IS>H$, ‘mVr, nrHo$, dZñnVr
28) bmoH$g§»`m, ñWbm§Va, dñË`m Am{U O‘mVr
29) ‘hmamï´> : H¥$fr, dZñnVr, I{ZOo Am{U D$Om© g§gmYZo
30) ‘hmamï´> : CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma

3) ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)
5) ‘mZdr h¸$ g‘ñ`m (3)

31) g§{dYmZg^m, òmoV, g{‘Ë`m, {MÝho
32) àñVmdZm, R>iH$ Am{U ‘yb ŷV d¡{eï²> ò, ‘hÎdmMr H$b‘o
33) KQ>ZmXþéñVr, Am`moJ Am{U ‘§S>io
34) H|$Ð-amÁ` g§~§Y, ZdrZ amÁ ò, Ý`m`ì`dñWm
35) H|$Ðr` H$m ©̀H$m[aUr, {d{Y‘§S>i, nj Am{U X~md JQ>
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36) amÁ` gaH$ma Am{U àemgZ
37) n§Mm¶V amOMr CËH«$m§Vr, 73 dr Am{U 74 dr XwéñVr
38) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg
39) ehar àemgZ - g§ñWm Am{U {dH$mg
40)  ‘hÎdmMo H$m`Xo, {Z`‘
41)  gmd©O{ZH$ YmoaUo Am{U H$m ©̀H«$‘
42) Xw~©b KQ>H$, ñd §̀godr g§ñWm§Mo gj‘rH$aU
43) ‘mZdr h¸$ OmhraZm‘m
44) ‘yb ŷV A{YH$ma, ‘mJ©Xe©H$ VÎdo, ‘yb ŷV H$V©ì ò
45) amîQ´>r¶ ‘mZdr h¸$ Am`moJ - EZEggrgr, EZEgQ>rgr, EZgr~rgr

4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) emídV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) ~mø ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

46) dmT> Am{U {dH$mg - MDG, SDG, Macro Economics

47) Am{W©H$ gwYmaUm - {d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>
48) J[a~rMr g§H$ënZm, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘
49) amoOJma, OZaoeZ H$m ©̀H«$‘ R>adUmao KQ>H$
50) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm
51) ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©Vrb H$m ©̀H«$‘
52) bmoH$g§»`m - g§»¶mË‘H$ Am{U JwUmË‘H$ d¡{eîQ>ço
53) bmoH$g§»`m MH«$, bmoH$g§»`m YmoaUo
54) {ejU, Amamo½`, gm‘m{OH$ gwajm joÌmVrb dmT>
55) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`
56) gmd©O{ZH$ {dÎm Am{U {dÎmr` g§ñWm - H$a, ~OoQ>, {dÎmr` YmoaUo
57) Am§Vaamï´>r` AW©emó Am{U Am§Vaamï´>r` ^m§S>db Midi
58) ~±qH$J - H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
59) ^maVr` CÚmoJ, nm`m ŷV gw{dYm Am{U godm joÌ
60) H¥$fr Am{U J«m‘rU {dH$mg - ghH$ma joÌ
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5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s  (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

61) BH$mo{gñQ>‘ - D$Om© {na°{‘S>, AÞ gmIir Am{U Omio, gm{hË` MH«$
62) n`m©daUr` Ag§VwbZ, g§dY©Z, OmJ{VH$ n¶m©daU n[afXm, BAm¶E
63) O¡d{d{dYVm - ^maVmVrb g§H$ënZm, àH$ma, dÝ`Ord Am{U dZñnVr
64) A^`maÊ ò Am{U amï´>r` CÚmZo, ì`mK« àH$ën, n`m©daU H$m`Xo
65) ½bmo~b dm°{‘ªJ - h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ŷ{‘H$m
66) àXyfU - hdm, nmUr, ‘mVr, ÜdZr. H$Mam ì`dñWmnZ, e‘Z Cnm`

6) gm‘mÝ` {dkmZ (15)
67) JVremó, CîUVm
68) bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
69) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ-{H$aUmoËgm[aVm, IJmobemó
70) AmdV© gmaUr - ‘ybÐì¶o d AUwaMZm
71) X¡Z§{XZ dmnamVrb g§̀ wJo - YmVy, AYmVy, jma, B§YZo, dm ỳ, IVo
72) amgm`{ZH$ A{^{H«$`m - Amåb, AëH$br, g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$
73) noer{dkmZ d M¶mnM¶Z
74) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
75) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

76) dZñnVtMo dJuH$aU Am{U CXmhaUo
77) H¥$fr{dkmZ, dZemó d n¶m©daU
78) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr
79) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW,
80) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘
81) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo
82) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
83) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg
84) Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m
85) A§Vami {dkmZ
86) D$Om© V§ÌkmZ
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7)  Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
86) OmJ{VH$ {eIa n[afXm, g§ajU KQ>Zm, {ZdS>UwH$m, ‘mZdr h¸$ g‘ñ`m
87) amï´>r` - gwYmaUm H$m`Xo, ‘hÎdmMo Ý¶m¶mb¶rZ {ZU©̀ , Am§XmobZo, amOH$s` nj
88) Am§Vaamḯ>r` g§KQ>Zm - UN, ASEAN, BRICS, European Union, G20, OPEC

89) amï´>r` / ‘hmamï´> ñVamdarb g§KQ>ZmË‘H$ d g§ñWmË‘H$ ~m~r
90) Am§Vaamï´>r` AW©H$maU - OmJ{VH$ ~±H$, IMF, WTO

91) amï´>r` / ‘hmamï´> AW©H$maU - amï´>r` CËnÞ, {dH$mg H$m ©̀H«$‘
92) d¡km{ZH$ KQ>Zm - A§Vami {dkmZ, g§emoYZ, BT, ICT

93) amï´>r` / ‘hmamï´> - D$Om© Am{U BÝ’«$m, g§ñWm, YmoaUo
94) ^m¡Jmo{bH$ KQ>Zm - ñWmZ, gr‘m Am{U g§Kf©, amOYmZr Am{U ‘hÎdmMr ehao, AmnÎmr
95) amï´>r` / ‘hmamï´> - YaUo Am{U àH$ën, O‘mVr Am{U g‘wXm`
96) gm§ñH¥${VH$ KS>m‘moS>r - ZmË¶, g§JrV, {MÌnQ> Am{U CËgd
97) H«$sS>m gm§ñH¥${VH$ KS>m‘moS>r - Am°qb{nH$, Am{e`mB© Ioi, A°Wbo{Q>Šg, hm°H$s ~°S>q‘Q>Z, ~w{Õ~i, {H«$Ho$Q>, ’w$Q>~m°b,

Q>o{Zg
98) gm{hpË¶H$ KS>m‘moS>r - nwñVHo$, dV©‘mZnÌo
99) Zo‘UwH$m d ‘hÎdmÀ¶m ì¶º$s - Am§Vaamï´>r`/amï´>r`/‘hmamï´> - ZoVo, AÜ`j, n§VàYmZ, ‘wËgÔr
100) nwañH$ma d ~hþ‘mZ - Am§Vaamï´>r`/amï´>r`/‘hmamï´> - ZmJar nwañH$ma, em¡̀ ©, {MÌnQ>, gm{hË`
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‘hmamḯ> cmoH$godm Am¶moJ

‘hmamḯ> amOn{ÌV ZmJar godm nyd©narjm : gm‘mÝ¶ AÜ¶¶Z nona (1)

 gm‘mÝ` {dkmZ 20 ‘hÎdmMo ‘wÔo

* ̂ m¡{VH$emó -
1) JVremó, CîUVm
2) bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
3) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ - {H$aUmoËgm[aVm, IJmobemó

* agm¶Zemó -
4) AmdV© gmaUr - ‘ybÐì¶o d AUwaMZm
5) X¡Z§{XZ dmnamVrb g§̀ wJo - YmVy, AYmVy, jma, B§YZo, dm ỳ, IVo
6) amgm`{ZH$ A{^{H«$`m - Amåb, AëH$br, g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$

* Ordemó -
7) noer{dkmZ d M¶mnM¶Z, O¡dV§ÌkmZ
8) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
9) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

* dZñnVremó -
10) dZñnVtMo dJuH$aU Am{U CXmhaUo
11) H¥$fr{dkmZ, dZemó d n¶m©daU
12) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

* ‘mZdr Ordemó, Amamo½¶ Am{U Amhma{dkmZ -
13) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW
14) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘
15) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo

* {dkmZ d V§ÌkmZ -
16) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
17) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg
18) Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m
19) A§Vami {dkmZ
20) D$Om© V§ÌkmZ



‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 12

For Private Circulation Only

 ‘mZdr Ordemó, Amamo½¶ Am{U Amhma{dkmZ
1) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW
2) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘
3) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo

(1) ‘mZdr eara - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm,
ñZm¶y d ApñWg§ñWm

1) ‘mZdr MoVm d g§doXZ g§ñWm
2) ‘mZdr nMZg§ñWm
3) ‘mZdr ídgZg§ñWm,
4) ‘mZdr aº$, é{Yam{^gaU
5) ‘mZdr ñZm¶y d AñWr g§ñWm
6) ‘mZdr A§V…òmdrg§ñWm/ g§àoaH$/Z{bH$m{da{hV J«§Wr  g§ñWm
7) ‘mZdr CËgO©Z g§ñWm
8) àOZZ / nwZéËnmXZ g§ñWm
9) OI‘m, q’$JaqàQ
10) ‘¥Ë¶y, ed{M{H$Ëgm
11) ~bmËH$ma, J ©̂nmV, qbJ{ZXmZ MmMUr
12) AZwdm§{eH$Vm, amoJà{VH$maH$Vm

1) ‘mZdr MoVmg§ñWm, ‘Zmoé½U
1) S>moHo$ XwImnV ‘Ü`‘ åhUyZ dJuH¥$V Ho$br OmVo, Oa ½bmgJmo H$mo‘m ñHo$b (GCS) ñH$moAa _______ Agob.

1)  LOC gh GCS 14 qH$dm 15 2)  GCS 9 - 13
3)  GCS 3 - 8 4)  GCS < 3

1) A head injury is classified as Moderate, if the Glasgow coma scale (GCS) score is ______.

1) GCS 14 or 15 with LOC 2) GCS 9 - 13

3) GCS 3 – 8 4) GCS < 3

2) AH$mbr ao{Q>Zmon°WrÀ`m ~m~VrV, Oa aº$d{hÝ`mg§~§Yr Am{U Aìh°ñŠ ẁba ao{Q>Zm `m§À`m‘Ü ò gr‘m§H$Z aofm {Xgbr, Va
Vr ______ Xe©dVo.
1) Q>ßnm 1 2) Q>ßnm 2 3) Q>ßnm 3 4) Q>ßnm 4

2) In case of Retinopathy of prematurity, if a demarcation line is seen between the vascular and

avascular retina, then it indicates ______.

1) Stage 1 2) Stage 2 3) Stage 3 4) Stage 4
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3) ‘mZdr earamVrc gdm©V cm§~ noer H$moUVr?
1) A§S>noer 2) ‘oXnoer 3) ewH«$noer 4) MoVmnoer

3) Which is the longest cell of the human body?

1) Ovum 2) Fat cell 3) Sperm 4) Nerve cell

4) Imbrbn¡H$s H$moUVo amgm¶{ZH$ nXmW© MoVmg§doXZmdmhH$ åhUyZ à‘m{UV Ho$bo AmhoV?
a) A°grQ>mB©b H$mobrZ d J°‘m A‘rZmo ã¶yQ>rarH$ A°{gS> b) S>monm‘mB©Z d Zm°aA°S´>rZ°brZ
c) bm¶grZ d {hñQ>m‘mB©Z d) nm¶ê$ìhrH$ A°{gS> d A°grQ>mB©b H$moE
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (c) 3) (a) Am{U (b) 4) (c) Am{U (d)

4) Which of the following chemical substances are authenticated as Neurotransmitters?

a) Acetylcholine and Gamma aminobutyric acid

b) Dopamine and noradrenalin

c) Lysine and Histamine

d) Pyruvic acid and Acetyl CoA

Answer Options :

1) (a) only 2) (c) only 3) (a) and (b) 4) (c) and (d)

5) ... hr Am¡fYo ‘Ü¶dVu ‘‚mmg§ñWm, nMZg§ñWm ¶m§À¶mdarb g§doXr MoVmV§VyÀ¶m Q>moH$mda ~Õ amhVmV.
1) H°$Þm{~Zm°B©S>g 2) Amo{nAm°B©S²>g 3) ‘m°{’©$Z 4) H$moH$m-AëH$bm°B©S>g

5) ... are drugs which bind to receptors present in central nervous system and gastro-intestinal-tract.

1) Cannabinoids 2) Opioids 3) Morphine 4) Coca-alkaloids

6) ñnm¶Zb H$m°S>©À`m g^modVmbÀ`m g~A°a°ŠZmoBS> ñnog‘Ü ò ........... Q>moMbr OmVmV.
1) no[aS>çyab B§OoŠeÝg 2) B§Q´mgoao~«b B§OoŠeÝg
3) B§Q´mH$m{S>©̀ mH$ B§OoŠeÝg 4) B§Q´mWoH$b B§OoŠeÝg

6) .............. are made into subarachnoid space that surrounds the spinal card.

1) Peridural injections 2) Intracerebral injections

3) Intracardiac injections 4) Intrathecal injections

7) Mohè`mÀ`m ‘‚mmV§VyMm bmoAa ‘moQ>a Ý ỳam°Z njmKmV Imbrb n[apñWVt{edm` hmoD$ eH$Vmo?
1) ìhm`ab BÝ’o$ŠeZ 2) goao~«moìhñHw$ba AnKmV
3) n°amoQ>rS> eó{H«$ òXaå`mZ 4) grnr A±Jb Q>çy‘a eó{H«$ òXaå`mZ

7) Lower Motor Neuron paralysis of facial nerve may occur in following conditions except ?

1) Viral infection 2) Cerebrovascular accident

3) During parotid surgery 4) During CP angle tumour surgery

8) nyd©dVu ‘o{S>`mpñQ>Zb dñVw‘mZmÀ`m gm‘mÝ` H$maUm§‘Ü ò dJiVm gd© g‘m{dï> AmhoV
1) Wm`‘mo‘m 2) Wm`am°B©S> dñVw‘mZ 3) Q>oamQ>mo‘m 4) Ý ỳamo{’$~«mo‘m

8) The common cause of anterior mediastinal mass include all except

1) Thymoma 2)  Thyroid mass 3) Teratoma 4) Neurofibroma
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9) 'ß ẁ{nbar hm`nmonm`m°Z' Mo gmXarH$aU V§Vw‘` ~mhþë`mbm Añnï> H$aUmao ______ gh nm{hbo OmVo.
1) Šbo~{gEbm Ý ỳ‘mo{Z`m 2) JQ> ~r ñQóßQ>moH$m°H$g
3) ZmoH$m{S>©̀ m bKwJ«h 4) ‘m`H$mo~°ŠQ>o[a`‘ j`amoJ

9) The presentation of ‘Pupillary hypopyon’ with fibrous obscuring the pupil is seen with ______.

1) Klebsiella pneumoniae 2)  Group B Streptococcus

3)  Nocardia asteroides 4)  Mycobacterium tuberculosis

10) g|Q´b nm°ÝQ>mBZ Am°ñ‘mo{Q>H$ {S>‘m`{bZoeZ qgS´mo‘Mr d¡{eï²> ò dJiVm gd© g‘m{dï> AmhoV.
1) {S>g’°{J`m 2) {S>gmW©[a`m (~mobÊ`mV AS>MU)
3) {S>ßbmo{n`m 4) S>m`ñQ>mo{Z`m

10) Features of central pontine osmotic demyelination syndrome include all except.

1) Dysphagia 2) Dysarthria (Difficulty speaking)

3) Diplopia 4) Dystonia

11) Imbrbn¡H$s H$moUVo [aìh{g©~b H$m~m©‘oQ> BZ{h{~Q>a Am¡fY AëPm`‘a amoJmÀ`m CnMmamgmR>r dmnabo OmVo?
1) Q>°{H«$Z 2) J°b§Q>m‘mBZ 3) [admpñQ>½‘mBZ 4) S>moZono{Pb

11) Which among the following drug is a reversible carbamate inhibitor used for the treatment of

Alzheimer disease ?

1) Tacrine 2) Galantamine 3) Rivastigmine 4) Donepezil

12) [agoßQ>aàVr A{VCƒ AmH$f©U Am{U Cƒ Am§V[aH$ {H«$`mj‘Vm Agbobo Am¡fY åhUOo ......
1) A°°Jmo{ZñQ> 2) {damoYr 3) Am§{eH$ A°°Jmo{ZñQ> 4) CbQ> A°°Jmo{ZñQ>

12) A drug with high affinity for receptor and high intrinsic activity is a/an .......

1) Agonist 2) Antagonist 3) Partial agonist 4) Inverse agonist

13) d¡{eï²>`nyU©nUo, hm`naQ>opÝgìh S>moHo$XwIr ........... CX²̂ dVo
1) g§Ü`mH$mir Am{U níMH$amoQ>r ^mJmV 2) gH$mir Am{U Q>|nmoab/H$U©H$amoQ>r ^mJmV
3) gH$mir Am{U níMH$amoQ>r ^mJmV 4) amÌr Am{U ’«§$Q>b/ ^mbH$amoQ>r ^mJmV

13) Characteristically, a "hypertensive headache" occurs in ..........

1) Evening and in occipital region 2) Morning and in termporal region

3) Morning and in occipital region 4) Night and in frontal region

14) Imbrbn¡H$s H$moUVm EH$ b¢{JH$ g§H«${‘V amoJ Zmhr?
1) CnX§e 2) ny¶‘oh 3) An‘ZñH$Vm 4) Šc°{‘{S>`m

14) Which of the following is NOT a sexually transmitted disease?

1)  Syphilis 2)  Gonorrhoea 3)  Dementia 4)  Chlamydia

15) {df{Z{‘©Vr H$aUmè¶m ...... ‘wio hmoUmam, {Q>Q>°Zg hm ‘‚mmg§ñWoMm EH$ J§̂ ra amoJ Amho.
1) {dfmUy 2) e¡dmb 3) {OdmUy 4) ~waer

15) Tetanus is a serious disease of the nervous system caused by a toxin-producing:

1)  virus 2)  algae 3)  bacteria 4)  mould
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16) Ag‘{‘V J^m©e`mÀ`m dmT>rda à{V~§Y n[aUm‘ H$aV Zmhr :
1) `H¥$V 2)  ‘|Xy 3)  ËdMoImbrb Ma~r 4) ñZm ỳ

16) An asymmetrical Intra-uterine Growth Restriction does NOT affect :

1)  Liver 2)  Brain 3)  Subcutaneous fat 4)  Muscle

17) Imbrbn¡H$s H$moUVo ho nmoñQ>[a`a n°[aEQ>b bmo~À`m OI‘m§Mo d¡{eï²>`nyU© d¡{eï²>` Zmhr?
1) B§{Ð`OÝ` eÌwËd 2) A°°¾mo{g`m Am{U A°°H°$ëHw${b`m
3) ‘moQ>a {S>g’o${g`m 4) H$ÝñQ´ŠeZb Aà°pŠg`m

17) Which of the following is NOT a typical feature of posterior parietal lobe lesions?

1)  Perceptual rivalry 2)  Agnosia and acalculia

3)  Motor dysphasia 4)  Constructional apraxia

18) g~A°amŠZmoBS> aº$òmdmÀ`m d¡{eï²>`nyU© d¡{eï²>`m‘Ü ò `m{edm` gd© g‘m{dï> AmhoV :
1) ~hþVoH$ n[aUm‘ {d{bgÀ`m dVw©imÀ`m EÝ ẁ[aP‘À`m ’$mQ>Ê`m‘wio hmoVmV
2) grQ>r ñH°$Z ho n{hë`m ng§VrMo B‘oqOJ Amho
3) gd© àH$aUm§‘Ü ò S>m`½Zm°pñQ>H$ Ebnr Amdûm`H$ Amho
4) dmgmoñnmP‘‘wio {dH¥$Vr bjUr` Amho

18) The characteristic feature of subarachnoid Haemorrhage includes ALL EXCEPT :

1) Most result from rupture of an aneurysm of the circle of willis

2) CT scan is the imaging of first choice

3) Diagnostic LP is necessary in all cases

4) Morbidity is significant due to vasospasm

19) Mohè`mÀ`m ‘‚mmV§VyMm bmoAa ‘moQ>a Ý ỳam°Z njmKmV Imbrb n[apñWVt{edm` hmoD$ eH$Vmo?
1) ìhm`ab BÝ’o$ŠeZ 2) goao~«moìhñHw$ba AnKmV
3) n°amoQ>rS> eó{H«$ òXaå`mZ 4) grnr A±Jb Q>çy‘a eó{H«$ òXaå`mZ

19) Lower Motor Neuron paralysis of facial nerve may occur in following conditions except ?

1) Viral infection 2) Cerebrovascular accident

3) During parotid surgery 4) During CP angle tumour surgery

20) g|Q´b nm°ÝQ>mBZ Am°ñ‘mo{Q>H$ {S>‘m`{bZoeZ qgS´mo‘Mr d¡{eï²> ò dJiVm gd© g‘m{dï> AmhoV.
1) {S>g’°{J`m 2) {S>gmW©[a`m (~mobÊ`mV AS>MU)
3) {S>ßbmo{n`m 4) S>m`ñQ>mo{Z`m

20) Features of central pontine osmotic demyelination syndrome include all except.

1) Dysphagia 2) Dysarthria (Difficulty speaking)

3) Diplopia 4) Dystonia

g§doXZ g§ñWm
1) gd©gmYmaU ({ZamoJr) ‘mZdr S>moù¶mMm ñnï> Ñï>rMm Q>ßnm (S>r. S>r. ìhr.) {H$Vr AgVmo ?

1) 30 g§o. ‘r. 2) 15 g§o. ‘r. 3) 25 g§o. ‘r. 4) 40 g§o. ‘r.
1) What is the distance of distinct vision (DDV) of a normal human eye ?

1) 30 cm 2) 15 cm 3) 25 cm 4) 40 cm
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2) "em§VVm n[aga' Kmo{fV ^mJmV {Xdgm cmD$S>ñnrH$aMm AmdmO .... So>{g~c nmdoVmo {Z¶§{ÌV Agcm nm{hOo.
1) 65 2) 55 3) 50 4) 45

2) Sound level of loudspeaker during day time in notified 'silent zone' is restricted upto ...........

decible.

1) 65 2) 55 3) 50 4) 45

3) AmH$memVyZ OmUmè¶m ÜdZr charMm doJ EH$m goH§$Xmcm .......... Agm Amho.
1) 2,86,000 ‘¡c/goH§$X 2) 1,86,000 ‘¡c/goH§$X
3) 3,86,000 ‘¡c/goH§$X 4) 4,86,000 ‘¡c/goH§$X

3) Sound waves in a space travels at a speed of ............. miles per second.

1) 2,86,000 miles/sec. 2) 1,86,000 miles/sec.

3) 3,86,000 miles/sec. 4) 4,86,000 miles/sec.

4) _mZdr earamMo gm_mÝ` Vmn_mZ {H$Vr AgVo?
1) 98.40 \o$. 2) 99.40 \o$. 3) 97.80 \o$. 4) 96.40 \o$.

4) What is the normal temperature of the human body ?

1) 98.40 F 2) 99.40 F 3) 97.80 F 4) 96.40 F

5) "hm`nmoWoa{_`m' åhUOo ...........
1) earamMo Vmn_mZ 350C nojm H$_r hmoUo 2) earamMo Vmn_mZ 370C nojm OmñV dmT>Uo
3) earamMo Vmn_mZ 370C cm pñWa R>odUo 4) `mn¡H$s Zmhr

5) The term 'Hypothermia' means ......

1) fall in body temperature to below 350C 2) rist in body temperature to above 370C

3) maintain body temperature to 370C 4) None of these

6) S>moù`mÀ`m H$moUË`m AmOmamZo ZoÌq^J AnmaXe©H$ ~ZVo?
1) H$mM~§Xy 2) _moVrq~Xy 3) amVm§Yio 4) {ZH$Q> Ñ{ï>Vm

6) In which eye defect does the lens become opaque ?

1) Glaucoma 2) Cataract 3) Night blindness 4) Myopia

7) nmVinS>ÚmÛmao àH$me S>moù¶m‘Ü¶o àdoe H$aVmo Ë¶mbm ...... åhUVmV.
1) Am¶arg 2) nw{nb 3) aoQ>rZm 4) H$m°{Z©¶m

7) Light enters the eye through thin membrane called the

1) Iris 2) Pupil 3) Retina 4) Cornea

8) X§S> d e§Hy$ Zm‘H$ g§doXr V§{ÌH$m noer ......... ‘Ü¶o AmT>iyZ ¶oVmV.
1) H$mop³bAm (H$mZmMm A§VJ©V ^mJm) 2) ËdMm
3) ~møËdMm 4) S>moù¶mVrb nS>Xm

8) Sensory nerve cells called Rods and Cones are found in ........... .

1) Cochlea 2) Dermis

3) Epidermis 4) Retina of the eye
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9) nmVinS>ÚmÛmao àH$me S>moù¶m‘Ü¶o àdoe H$aVmo Ë¶mbm ...... åhUVmV.
1) Am¶arg 2) nw{nb 3) aoQ>rZm 4) H$m°{Z©¶m

9) Light enters the eye through thin membrane called the

1) Iris 2) Pupil 3) Retina 4) Cornea

10) ‘Ü¶H$Um©V Agcoë¶m H$mZmVrc hm§S>mMm (A°mgrH$ëg), H«$‘ ~mhoê$Z AmV, Aem àH$maMm Amho :
1) ñQ>ong, BÝH$g, ‘°co¶g 2) BÝH$g, ‘°co¶g, ñQ>ong
3) ‘°co¶g, ñQ>ong, BÝH$g 4) ‘°co¶g, BÝH$g, ñQ>ong

10) The sequence of ear ossicles in the middle ear, from outer to inner side is as follows :

1) Stapes, incus, malleus 2) Incus, malleus, stapes

3) Malleus, stapes, incus 4) Malleus, incus, stapes

11) `mo½` n`m©̀  {ZdS>m.
A) ‘¥Ë ỳ hr pñWVr ~XbUo Amho. ~) ‘¥Ë ỳ hr n°Q>Z©Mr Aì`dñWm Amho.
H$) OrdZ H$mhr ’$aH$ nS>V Zmhr. S>) ídmgm‘Ü ò dm ỳ AgVmo.
n¶m©¶r CÎmao …
1) ’$º$ (A) Am{U (~) 2) ’$º$ (H$) Am{U (S>) 3) ’$º$ (S>) 4) gd© Mma

11) Choose the correct option.

a) death is a change of state. b) death is a disarrangement of pattern.

c) life is not matter. d) breath consists of gas.

Answer Options :

1) Only (a) and (b) 2) Only (c) and (d) 3) Only (d) 4) All four

12) hoëWHo$Aa àmo’o$eZb Am{U gmWrÀ`m BÝâbyE§Pm  A (H1N1) À`m g§e{`V qH$dm nwï>r Pmboë`m àH$aUmÀ`m OdiÀ`m
g§nH$m©Vrb Ho$‘moàmo{’$bopŠgggmR>r {ZdS>bobo Am¡fY Amho ...........
1) PmZm{‘dra 2) AmogoëQ>m{‘dra 3) [a~m{d[aZ 4) A‘m§Q>mS>rZ

12) The drug of choice for chemoprophylaxis to healthcare professional and close contacts of

suspected or confirmed case of pandemic influenza A  (H1N1) is ...........

1) Zanamivir 2) Oseltamivir 3) Ribavirin 4) Amantadine

13) g§emoYZmÀ`m Aä`mgmV 11 (AH$am) Xoem§‘Yrb EHy$U Ma~rÀ`m nwadR>çmgh AëPm`‘a amoJmMm àmXŵ m©d Aä`mgbm
Jobm. Ë`m§Zr Zm|Xdbo H$s EHy$U Ma~rMm nwadR>m AëPm`‘a amoJmÀ`m àgmamer OmoaXmanUo g§~§Y Amho.
Imbrbn¡H$s H$moUVo darb E{nS>o{‘`mobm°{OH$b nÕVrMo gdm}Îm‘ dU©Z H$aVo?
1) n`m©daUr` Aä`mg 2) g‘wXm` MmMÊ`m
3) H«$m°g goŠeZb ñQ>S>r 4) nÕVera nwZamdbmoH$Zo

13) "In research study investigation studied the prevalence of Alzheimer's disease along with total fat

supply in 11 (Eleven) countries. They reported that total fat supply is strongly correlated with

prevalence of Alzheimer's disease."

Which of the following best describes the above epidemiological method ?

1) Ecological study 2) Community trials

3) Cross sectional study 4) Systematic reviews
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14) WHO Ûmao Amamo½`m‘Ü ò H¥${Ì‘ ~w{Õ‘Îmm Omar Ho$bobr VÎdo. Imbrbn¡H$s H$moUVo VËd Iao AmhoV?
a) ‘mZdr eara aMZm g§ajU
b) ‘mZdr H$ë`mU, gwa{jVVm Am{U gmd©O{ZH$ {hV `m§Zm àmoËgmhZ XoUo
c) nmaXe©H$Vm, ñnï>rH$aU Am{U gwJ‘Vm gw{ZpíMV H$aUo
d) AZÝ`Vm Am{U Ag‘mZVm gw{ZpíMV H$aUo
n¶m©¶r CÎmao …
1) a ’$º$ 2) a Am{U b ’$º$ 3) a, b Am{U c 4) ’$º$ d

14) Principles issued by WHO artificial intelligency in health. Which of the following principles are

true ?

a) Protecting human anatomy

b) Promoting human well being, safety and public interest

c) Ensuring transparency, explainability and intelligibility

d) Ensuring exclusiveness and inequality

Answer Options :

1) a only 2) a and b only 3) a, b and c 4) d only

15) EImÚm ‘Zmoé½U ì¶º$sbm ‘mZgmonMma é½Umb¶mV qH$dm ‘mZgmonMma J¥hmV àdoe XoÊ¶mgmR>r Am{U AQ>H$mdyZ R>odÊ¶mgmR>r
‘mZ{gH$ Amamo½¶ A{Y{Z¶‘, 1987 À¶m VaVwXrAÝd ò H$mT>bobm AmXoe åhUOo ...... hmo¶.
1) {ZH$S>rMm AmXoe 2) ñdmJV AmXoe
3) ‘ZmB© AmXoe 4) darbn¡H$s H$moUVohr Zmhr

15) An order made under the provision of the Mental Health Act, 1987, for the admission and detention

of mentally ill person in a psychiatric hospital or psychiatric nursing home is the order known

as..........

1) Emergency Order 2) Reception Order

3) Prohibition Order 4) None of the above

2) ‘mZdr nMZg§ñWm
1) {bAmoZmXm} Xm pìhÝMrZo 1508 gmbr Ho$bobo ‘mZdr earamÀ¶m AmVë¶m ^mJmMo aoImQ>Z Am§Ì¶moOr hm Ad¶d XmIdVo.

......... gmbr g§emoYH$m§Zr Am§Ì¶moOr hm ‘mZdr earamMm Zdm 79 dm Ad¶d Agë¶mMo Om{ha Ho$bo.
1) OmZodmar 2014 2) OmZodmar 2015 3) OmZodmar 2016 4) OmZodmar 2017

1) Drawings made by Leonardo da Vinci in 1508 of the internal parts of the human body shows

mesentery as an organ. In  .............. mesentery is declared as the new 79th organ of the human

body by researchers by studying it in detail.

1) January 2014 2) January 2015 3) January 2016 4) January 2017

2) Imbrbn¡H$s H$moUVm EH$$‘mJ© hm nMZg§ñWoÛmao Am¡fY XoÊ¶mMm ‘mJ© Xe©dVmo ?
1) B§Q´m{WH$b 2) ~¸$b 3) Q´mÝgS>‘©b 4) BZhoboeZ

2) The enteral route of administration depicts one among the following route.

1) Intrathecal 2) Buccal 3) Transdermal 4) Inhalation
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3) ............. ‘mZdr AmVS>çm§g§~§Yr ‘mJm©Vrb OrdmUy§Ûmao g§l²bo{fV Ho$bo OmVo.
1) pìhQ>°{‘Z S>r 2) pìhQ>°{‘Z gr 3) pìhQ>°{‘Z E 4) pìhQ>°{‘Z Ho$

3) .............. is synthesized by bacteria in the human intestinal tract.

1) Vitamin D 2) Vitamin C 3) Vitamin A 4) Vitamin K

4) Vm|S>mÀ`m nmoH$irMo N>ßna ........... Ûmao V`ma hmoVo
1) Q>UH$ Q>miy 2) Or^ 3) KemMr nmoH$ir 4) O~S>m

4) The roof of the mouth cavity is formed by .........

1) Hard palate 2) Tongue 3) Pharynx 4) Mandible

5) nMZg§ñWoMo ‘wI Vo JwXÛma ¶m ‘mJm©‘Ü¶o pH ‘Ü¶o H$m¶ ~Xc hmoV OmVmo?
1) AëH$cr - Amåc - AëH$cr 2) Amåc - AëH$cr - Amåc
3) Amåc - AëH$cr 4) AëH$cr - Amåc

5) How does the pH change from the mouth to the anus in the digestive system?

1) Alkaline - acidic - alkaline 2) Acidic - alkaline - acidic

3) Acidic - alkaline 4) Alkaline - acidic

6) ‘mZdmÀ¶m nmoQ>m‘Ü¶o H$moUVo OR>aag òdVmV?
1) nopßgZ Am{U {Q´>pßgZ 2) {Q´>pßgZ Am{U hm¶S´>mo³bmo[aH$ Amåb
3) hm¶S´>mo³bmo[aH$ Amåb Am{U nopßgZ 4) A‘m¶bmopßgZ Am{U nopßgZ

6) Which gastric juices are secreted in human stomach?

1) Pepsin and Trypsin 2) Trypsin and HCl

3) HCl and Pepsin 4) Amylopsin and Pepsin

7) ~«wZg© J«§Wr ¶m‘Ü¶o AmT>iVmV …
1) n¹$me¶mÀ¶m g~å¶wH$mogm 2) nmoQ>mÀ¶m g~å¶wH$mogm
3) AÞZ{bH$mÀ¶m å¶wH$mogm 4) B{b¶‘Mr å¶wH$mogm

7) Brunner's gland occurs in :

1) Submucosa of duodenum 2) Submucosa of stomach

3) Mucosa of oesophagus 4) Mucosa of ileum

8) nwT>rc XmoZ {dYmZm§Mm {dMma H$am :
a) Amnë¶m nmoQ>mV hm¶S´>mo³cmo[aH$ A°{gS> {Z‘m©U hmoVo Vo nMZ{H«$¶og ‘XV H$aVo. AnMZmV nmoQ>mV A{YH$ A°{gS>

{Z‘m©U hmoVo Á¶mZo nmoQ> XþIm¶cm cmJVo d ‘mUyg AñdñW hmoVmo.
b) ‘°¾o{e¶‘ hm¶S´>m°³gmBS> ({‘ëH$ Am°’$ ‘°¾o{e¶m) Mm dmna Aem doir Ho$cm OmVmo Oo EH$ AZ°cOo{gH$ Amho.
H$moUVo dm³¶ nyU©nUo ~amo~a Amho ?
1) Ho$di (a) 2) Ho$di (b) 3) (a) d (b) XmoÝhr 4) (a) d (b) XmoÝhrhr Zmhr

8) Consider the following two statements :

a) Our stomach produces hydrochloric acid. It helps in digestion of food. During indigestion the

stomach produces too much acid causing pain and irritation.

b) Magnesium hydroxide (milk of magnesia) is often used in the above condition which is an

analgesic?

Which is a completely correct statements ?

1) Only (a) 2) Only  (b) 3) Both (a) and (b) 4) Neither (a) nor (b)
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9) Imbrbn¡H$s S>m`Z°{‘H$ àH$maÀ`m AmVS>çm§g§~§Yr AS>Wù`mMo CXmhaU Amho :
1) AYmªJdm ỳ B{b`g 2) A§VJ«©hU 3) ìhm°ëdwbg 4) ~±S>/Amg§OZ

9) Example for adynamic type of intestinal obstruction among the following is :

1) Paralytic ileus 2) Intussusception 3) Volvulus 4) Bands/ adhesions

10) 2 dfm©À`m ‘wbm‘Ü ò {nÎm{df`H$ CbQ>çm, nmoQ>eyi XwIUo Am{U aº$ ‘b ho ‘w»`V… _______ Mo gyMH$ AgVo.
1) J°ñQ´mo Egmo’o$Ob [aâboŠg 2) A§VJ«©hU
3) A ©̂H$ hm`naQ´m°{’$H$ nm`bmo[aH$ ñQ>oZmo{gg 4) Vrd« AmÝÌnwÀN>mMm amoJ

10) Bilious vomiting, colicky pain and blood stools in a 2-year-old child is mostly suggestive of

______.

1) Gastro oesophageal Reflex 2) Intussusception

3) Infantile hypertrophic pyloric stenosis 4) Acute appendicitis

11) Vrd« J°ñQ´mo-S>çwAmoS>oZb aº$òmdmMm g§e` Agë`mg :
1) Q>°{H$H$m{S>©̀ m{edm` hm`nmoQ>oÝeZ d¡H$pënH$ {ZXmZ gwMdVo
2) Aeº$nUm ZgUo ho gy{MV H$aVo H$s aº$mMo à‘mU ‘m’$H$ Amho
3) ZmgmoJ°pñQ´H$ AmH$m§jm aº$ H$‘r hmoÊ`mMm AMyH$ A§XmO àXmZ H$aVo
4) EÝS>moñH$monr hr gdm}Îm‘ àb§{~V aº$mMr ‘mÌm ~XbUo bm§~Urda Q>mH$Vo

11) In case of suspicion of acute gastro-duodenal hemorrhage :

1) Hypotension without a tachycardia suggests an alternative diagnosis

2) Absence of anemia suggests volume of blood is modest

3) Nasogastric aspiration provides an accurate estimate of blood loss

4) Endoscopy is best deferred pending blood volume replacement

12) {Xboë`m {dYmZm§n¡H$s H$moUVo {dYmZ {nÎm{df`H$ ‘mJm©~Ôb ~amo~a Amho?
1) {nÎm Am{U ñdmXwqnS> Z{bH$m ghgm n¹$me`mV ñdV§ÌnUo gm‘rb hmoVmV
2) COì`m Am{U S>mì`m `H¥$VmÀ`m Z{bH$m EH$Ì hmoD$Z gm‘mÝ` {nÎm Z{bH$m V`ma hmoVo
3) XaamoO 1-2 brQ>a {nÎm òmd hmoVmo Am{U {nÎm ‘yÌme`mV 10 nQ> H|${ÐV hmoVmo
4) {nÎmme`m‘Ü ò àm‘w»`mZo ghmZŵ yVr Zgboë`m ‘‚mmV§Vy§Mm {dH$mg hmoVmo

12) Which of the given statement stands correct about the biliary tract?

1)  Bile and pancreatic ducts usually join duodenum separately

2)  Right and left hepatic ducts join to form the common bile duct

3)  1-2 liters of bile are secreted daily and concentrated 10 fold in the gall bladder

4)  Gallbladder is chiefly innervated by sympathetic nerves

13) nmoQ>mV AmnËH$mbrZ pñWVrV J«o Q>Z©a Am{U Hw$boZMo {MÝh ~hþVoH$ ______ Mo gyMH$ AgVo.
1) Vrd« ñdmXwqnS>mMm Xmh 2) ßbrhm XwImnV
3) Vrd« AmÝÌnwÀN>mMm amoJ 4) {nÎmme`mMm Xmh

13) In an abdominal emergency presence of Grey turner and Cullen’s sign is mostly suggestive

of______.

1)  Acute pancreatitis 2)  Splenic injury

3)  Acute appendicitis 4)  Cholelithiasis
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14) g~’«o${ZH$ JiyMr gdm©V Imob Am{U gm‘mÝ` OmJm ______ òWo AgVo.
1) S>mdr g~’«o${ZH$ OmJm 2) S>mì`m g~hon°{Q>H$ OmJm
3) COdr g~’«o${ZH$ OmJm 4) COdr g~hon°{Q>H$ OmJm

14) The deepest and most common site of a subphrenic abscess is located at ______.

1) Left subphrenic space 2) Left subhepatic space

3) Right subphrenic space 4) Right subhepatic space

15) ‘°bar - doBg qgŚmo‘ g§~§Yr gË` {dYmZ Amho :
1) ho emór` nÕVrZo KS>Vo Ooìhm EImÚm ì`º$sbm ~§X ½bmoQ>rg {déÕ CbQ>çm hmoVmV.
2) AÞZ{bHo$À`m ImbÀ`m {Vgè`m ^mJmV XwImnV hmoVo.
3) O~aXñV CbQ>çm nmoQ>mÀ`m öX`mÀ`m Q>moH$mbm íboî‘b PrO {Z‘m©U H$aVmV.
4) ho BñQ®>‘|Q>oeZ Woa°{n{Q>H$ E§S>moñH$monr Xaå`mZ CX²̂ dVo.

15) The TRUE statement regarding Mallory - Weiss syndrome is :

1) This occurs classically when person vomits against a closed glottis.

2) Injury occurs at lowered third of oesophagus.

3) Forceful vomiting produces a mucosal tear at the cardiac end of stomach.

4) It occurs during instrumentation therapeutic endoscopy.

16) ............ hm J°boŠQ>moO ‘oQ>m~m°{bP‘Mm AZwdm§{eH$ {dH$ma Amho.
1) A°{Z{‘`m 2) J°boŠQ>mogo{‘`m 3) W°bogo{‘`m 4) {gH$b gob A°{Z{‘`m

16) ............ is an inherited disorder of galactose metabolism.

1) Anemia 2) Galactosaemia 3) Thalassemia 4) Sickle cell anemia

3) ‘mZdr ídgZg§ñWm
1) àË¶oH$ ‘Zwî¶mbm XaamoO gamgar ídgZmÛmao {H$Vr hdm ídgZ Ho$br OmVo?

1) 1 {H$bmo 2) 10-20 {H$bmo 3) 15-22 {H$bmo 4) 100 {bQ>a
1) How much air inhales every individual person approximately a daily?

1) 1 kg 2) 10-20 kg 3) 15-22 kg 4) 100 Litre

2) EŠñQ°́S>çyab aº$òmdm‘wio ‘¥Ë ỳ H$moUË`m gm‘mÝ` H$maUmZo hmoVmo?
1) Ý ỳamoOo{ZH$ em°H$ 2) öX` An`e 3) ídgZ{H«$`m ~§X hmoUo 4) ho‘moao{OH$ em°H$

2) Extradural hemorrhage results in death with which of the commonest cause?

1) Neurogenic shock 2) Cardiac failure 3) Respiratory failure 4) Hemorrhagic shock

3) ~hþVoH$ AmnËH$mbrZ n[apñWVrV, dm ẁ‘mJ© gwa{jV H$aÊ`mMr gdm©V WoQ> Am{U g‘mYmZH$maH$ nÕV ______ Amho.
1)  na³¶wQ>o{Z`g Q´>°{H$AmoñQ>mo‘r 2) E§S>mo ídmgZ{bH$m B§Q>çy~oeZ
3)  {H«$H$moWm`am°BS>moQ>m°‘r 4) Q´mÝg ídmgZ{bH$m dm ẁdrOZ

3) In most emergency situations, the most direct and satisfactory method of securing the

airway______.

1)  Percutaneous tracheostomy 2)  Endo tracheal intubation

3)  Cricothyroidotomy 4)  Trans tracheal ventilation
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4) Vrd« në‘moZar B{S>‘mer g§~§{YV öX` An`emÀ`m ~m~VrV, {Xboë`m CnMmam~Ôb H$m` Iao Amho?
1) {gñQ>m°{cH$ aº$Xm~ < 140 {‘‘r EMOrnojm H$‘r Agë`mg Zm`QóQ²g Q>mimdo
2) â ẁamogo‘mBS> Woanr {àcmoS> Am{U AmâQ>abmoS> H$‘r H$aVo
3) Yy‘«nmZmMr gd` Agboë`m é½Um§‘Ü ò {Z §̀{ÌV Am°pŠgOZ Woanr 28% Am°pŠgOZn ª̀V ‘`m©{XV Agmdr.
4) ACE BZ{h{~Q>a AmâQ>abmoS> H$‘r H$aVmV na§Vw {àcmoS> dmT>dVmV

4) In case of cardiac failure associated with acute pulmonary edema, what is true about the treatment

given?

1)  Nitrates should be avoided if the systolic blood pressure < 140 mm Hg

2)  Furosemide therapy given IV reduces preload and afterload

3)  Controlled oxygen therapy should be restricted to 28% oxygen in patients who has a habit of

smoking

4)  ACE inhibitors decreases the afterload but increases the preload

5) Imbrbn¡H$s H$moUVo Am¡fY ídgZ{H«$¶oMm doJ ‘§XmdÊ¶mg H$maUr ŷV Amho ?
1) ’o$Zmo{W`m{PZ 2) boìhmoS>monm 3) ñQ´m`ŠZmB©Z 3) Šbmo{ZS>mBZ

5) Which drug among the following is known to cause respiratory depression ?

1)  Phenothiazine 2) Levodopa 3) Strychnine 3) Clonidine

6) ~«mopÝH$`b AñW‘mgmR>r H§$Q´moba Woanr åhUyZ Imbrb nÕVr dmnaë`m OmVmV
1) ~rQ>m 2 A°SóZ{O©H$ A°Jmo{ZñQ> 2) A±Q>rH$mo{bZ{O©H$
3) BZhoëS> H$m°{Q©>H$mopñQ>am°B©S²g 4) ’$m°ñ’$moS>rñQ>oaog BZ{h{~Q>a

6) Following is used as controller therapy for bronchial asthma

1) Beta 2 adrenergic agonists 2) Anticholinergics

3) Inhaled corticosteroids 4) Phosphodiesterase inhibitor

7) nyd©dVu ‘o{S>`mpñQ>Zb dñVw‘mZmÀ`m gm‘mÝ` H$maUm§‘Ü ò dJiVm gd© g‘m{dï> AmhoV
1) Wm`‘mo‘m 2) Wm`am°B©S> dñVw‘mZ 3) Q>oamQ>mo‘m 4) Ý ỳamo{’$~«mo‘m

7) The common cause of anterior mediastinal mass include all except

1) Thymoma 2)  Thyroid mass 3) Teratoma 4) Neurofibroma

8) MoñQ> SóZ KmbUo Am{U ì`dñWm{nV H$aUo `mg§~§YrMo Iao {dYmZ Amho :
1) Ý ẁ‘moWmoa°ŠggmR>r EH$ Zmbr ’w$â’w$gmÀ`m nm`mH$S>o bj Úmdr.
2) Zmë`mbm gŠeZ Z bmdUo qH$dm Šb±n Z H$aUo lò ñH$a Amho.
3) àW‘ ipsilateral Ý ỳ‘moWmoa°Šg ho g{O©H$b hñVjonmgmR>r EH$ g§Ho$V Amho.
4) Zmë`mbm AmXe©nUo gmVdr B§Q>aH$moñQ>b OmJm emoYbr nm{hOo.

8) The TRUE statement regarding insertion and managing a chest drain is:

1) A drain for pneumothorax should aim towards base of the lung.

2) It is preferable not to apply suction to the drain or clamp it.

3) First ipsilateral pneumothorax is an indication for surgical intervention.

4) The drain should ideally find the seventh intercostal space.
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9) Imbrb gd© ì`{V[aº$ {H$‘mZ àdoe eó{H«$ òMo ’$m`Xo AmhoV :
1) OI‘oÀ`m AmH$mamV KQ> 2) OI‘oÀ`m g§gJm©‘Ü ò KQ>
3) Y‘Zr aº$òmdmZ§Va ho‘moñQ>°{gg ghO gmÜ` hmoVo 4) gwYm[aV J{VerbVm

9) ALL of the following are advantages of minimal access surgery EXCEPT :

1)  Decrease in wound size

2)  Reduction in wound infection

3)  Haemostasis achieved easily after arterial bleeding

4)  Improved mobility

4) ‘mZdr aº$, é{Yam{^gaU
1) WHO À`m ‘Vo JamoXanUmV Aeº$nUm åhUOo {h‘mo½bmo{~Z ........ J«°‘/100 ml qH$dm Ë`mhÿZ H$‘r AgVmZm.

1) 9 J«°‘/100 {‘br 2) 10 J«°‘/100 {‘br 3) 11 J«°‘/100 {‘br 4) 12 J«°‘/100 {‘br
1) According to WHO anaemia in pregnancy is when the haemoglobin is ........ gms/100 ml or less.

1) 9 gms/100 ml 2) 10 gms/100 ml 3) 11 gms/100 ml 4) 12 gms/100 ml

2) à‘wI aº$dm{hZrÀ`m XwéñVrZ§Va `emMm Xa ______ Amho.
1) 40 - 50 % 2) 50 - 60 % 3) 70 - 80 % 4) > 90%

2) The success rate after repair of major vein is ______.

1) 40 - 50 % 2) 50 - 60 % 3) 70 - 80 % 4) > 90 %

3) ‘mZdr earamV OdiOdi ...... {H$cmo‘rQ>a cm§~rÀ¶m aº$dm{hÝ¶m AgVmV.
1) 10,000 2) 98,000 3) 97,000 4) 98,500

3) There are about ........ kilometers of blood vessels in the human body.

1) 10,000 2) 98,000 3) 97,000 4) 98,500

4) AmKmVOÝ` hm`{’$‘mÀ`m ~m~VrV, Oa bmb aº$noetMm AÜ`m©hÿZ A{YH$ AJ«̂ mJmMm g‘mdoe Agob Va Vo ______

Mo AgVo.
1) J«oS> I 2) J«oS> II 3) J«oS> III 4) J«oS> IV

4) In case of traumatic hyphema, if there is gross layering of the red blood cells involving more than

half of anterior chamber, then it belongs to ______.

1) Grade I 2) Grade II 3) Grade III 4) Grade IV

5) n{hcr öX` amonUmMr eó{H«$`m H$moUr Ho$cr ?
1) cwB© nmíMa 2) {¼íMZ ~Zm©S>© 3) haJmoq~X IwamUm 4) ES>dS>© OoÞa

5) The first heart transplant operation was performed by :

1) Louis Pasteur 2) Christian Bernard

3) Hargobind Khorana 4) Edward Jennar

6) ßbmÂ‘m Á`m‘YyZ JmoR>Ê`mMo KQ>H$ H$mTy>Z Q>mH$bo OmVmV Ë`mbm ........... åhUVmV.
1) {bå’$ 2) {ga‘ 3) ßbmP{‘Z 4) ßboQ>boQ>

6) Plasma from which the clotting factors are removed is known as ...........

1) Lymph 2) Serum 3) Plasmin 4) Platelet
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7) aº$àdmhmVrb Amåb ẁº$ Am¡fYm§Mo à‘wI dmhH$ à{WZ ........... ho Amho.
1) ½bmoã ẁ{bZ 2) Ho$am{Q>Z 3) ’o$ar{Q>Z 4) A°ëã ẁ{‘Z

7) The major carrier protein of acidic drugs in the blood stream is ...........

1) Globulin 2)  Keratin 3) Ferritin 4) Albumin

8) Imcrcn¡H$s H$moUVo OrdZgÎd aº$ gmH$iÊ`mH$arVm Amdí`H$ Amho ?
1) E OrdZgÎd 2) ~r

12
 OrdZgÎd 3) Ho$ OrdZgÎd 4) S>r OrdZgÎd

8) Which one of the following Vitamins is essential for the coagulation of blood ?

1) Vitamin A 2) Vitamin B
12

3) Vitamin K 4) Vitamin D

9) pìhQ>°{‘Z Ho$ Imbrb KQ>H$m§À`m g§ícofUmgmR>r Amdí`H$ Amho dJiVm:
1) ’°$³Q>a  IX 2)’°$³Q>a  X 3) ’°$³Q>a  III 4) ’°$³Q>a  II

9) Vitamin K is essential for the synthesis of the following factors except :

1) Factor IX 2) Factor X 3) Factor III 4) Factor II

10) Šbm°qQ>J ’°$ŠQ>a, ’°$ŠQ>a IX AÝ`Wm ........... åhUyZ AmoiIbm OmVmo.
1) p¼g‘g ’°$ŠQ>a 2) hoJo‘Z ’°$ŠQ>a
3) b°{~b ’°$ŠQ>a 4) ñQw>AQ>© àmoda ’°$ŠQ>a

10) The clotting factor, Factor IX is otherwise known as ...........

1) Christmas Factor 2)  Hageman Factor

3) Labile Factor 4) Stuart Prower Factor

11) Imbrbn¡H$s S>rn doZ W«moå~mo{gg (DVT) À`m Cƒ OmoI‘rer g§~§{YV eó{H«$`m à{H«$`m _______ Amho.
1) ‘°pŠgbmo’o${e`b eó{H«$`m 2) H$m{S>©Amo Wmoa°{gH$ eó{H«$`m
3) EHy$U {hn ~XbUo 4) óramoJ eó{H«$`m

11) The surgical procedure that is associated with HIGH risk of Deep Vein Thrombosis (DVT) among

the following is ______.

1)  Maxillofacial surgery 2)  Cardio thoracic surgery

3)  Total hip replacement 4)  Gynecological surgery

12) aº$ JmoR>Ê¶mÀ¶m à{H«$¶oV ’$m¶{~«ZmoOoZMo ’$m¶{~«Z‘Ü¶o ê$nm§Va hmoVo.
1) hm aº$ JmoR>Ê¶mÀ¶m à{H«$¶oVrb eodQ>Mm Q>ßnm Amho d ¶mV AZoH$ KQ>H$m§Mm gh^mJ Amho.
2) ’$m¶{~«ZmoOoZ (Fibrinogen) ’w$Q>boë¶m aº$q~{~Ho$VyZ ~mhoa Q>mH$bo OmVo.
3) ¶mMm g§~§Y Cƒ aº$Xm~mer Agë¶mZo amo{hUrÀ¶m {^ÎmtZm BOm nmohmoMy eH$Vo.
4) {h‘mo{’$br¶m hm AmOma Agboë¶m ì¶º$s¨‘Ü¶o hm Ìmg hmoD$ eH$Vmo.

12) In the process of clotting, the conversion of fibrinogen to fibrin

1) Is the final step of clotting process that involves multiple clotting factors

2) Occurs when fibrinogen is released from broken platelets

3) Is linked to hypertension and may damage artery walls

4) Is likely to occur too often in an individual with haemophilia
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13) _mUgm_Ü ò H$moUË`m J«wnMo aº$ Agco nm{hOo H$s Omo H$moUË`mhr JQ>mMo aº$ ñdrH$mê$ {eHo$c ?
1) (E)+ 2) (~r)+ 3) (Amo)+ 4) (E~r)+

13) A person having which of the following blood groups can receive blood of any group?

1) (A)+ 2) (B)+ 3) (O)+ 4) (AB)+

14) Imbrbn¡H$s H$moUVr n[apñWVr Xþgè¶m J^m©gmR>r YmoH$mXm¶H$ Agob ?
1) RH+ nwéf d RH- ór Mo {ddmh 2) RH- nwéf d RH+ ór Mo {ddmh
3) RH+ nwéf d RH+ ór Mo {ddmh 4) RH- nwéf d RH- ór Mo {ddmh

14) Which of the following situation will be fatal to second foetus ?

1) RH+ male marries RH- woman 2) RH- male marries RH+ woman

3) RH+ male marries RH+ woman 4) RH- male marries RH- woman

15) aº$ g§H«$‘Umnydu ‘w»` H«$m°g‘°qMJ ghgm _______ {‘giyZ Ho$bo OmVo.
1) XmË`mÀ`m noer Am{U àmáH$Ë`m©À`m noer 2) XmË`mMo {ga‘ Am{U àmáH$Ë`m©Mo {ga‘
3) XmË`mÀ`m noer Am{U àmáH$Ë`m©Mo {ga‘ 4) XmË`mMo {ga‘ Am{U àmáH$Ë`m©Mo noer

15) Major crossmatching prior to blood transfusion is usually done by mixing ______.

1)  Donor’s cells and Recipient’s cells 2)  Donor’s serum and Recipient’s serum

3)  Donor’s cells and Recipient’s serum 4)  Donor’s serum and Recipient’s cells

16) {h‘mo½cmo~rZ ~Ôb gË` H$m` Amho?
1) F ‘Ü ò XmoZ Aë’$m Am{U XmoZ S>oëQ>m MoZ AmhoV
2) A2 ‘Ü ò XmoZ Aë’$m Am{U XmoZ J°‘m MoZ AmhoV
3) H$m~m}{ZH$ A°{gS>Mm EH$ ‘hÎdmMm ~’$a Amho
4) bmb noet‘Ü ò Am°pŠgOZ ~§YZ 2, 3 - S>m`’$m°ñ’$mop½bgaoQ>Zo dmT>bo Amho

16) What is true regarding the fact about Hemoglobin?

1) F comprises two alpha and two delta chains

2) A2 comprises two alpha and two gamma chains

3) Is an important buffer of carbonic acid

4) Oxygen binding is increased by 2, 3 – diphosphoglycerate within the red cells

17) nwT>rc H$moUVo {dYmZ ¶mo½¶ Amho?
a) nm§T>è¶m aº$noer ApñW‘Ü¶mV ~ZVmV.
b) nm§T>è¶m noer {OdmUy§Zm (~°³Q>o[a¶m§Zm) g§ndVmV.
n¶m©¶r CÎmao …
1) Hoo$di (a) ¶mo½¶ 2) Ho$di (b) ¶mo½¶
3) (a) d (b) XmoÝhr ¶mo½¶ 4) (a) d (b) XmoÝhr ¶mo½¶ ZmhrV

17) Which of the following statements is/are correct?

a) W.B.C.s are made in bone marrow.

b) W.B.C.s destroy bacterias.

Answer Options :

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) is correct 4) Neither (a) nor (b) is correct
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18) E[aW«mogmBQ> {S>ñH$Mm AmH$ma ........... Amho.
1) {Û~{hd©H«$s 2) AdVb 3) CÎmb 4) {ÛA§Vd©H«$s

18) The shape of erythrocyte disc is ...........

1) Biconvex 2) Concave 3) Convex 4) Biconave

19) Ý ẁQ´mo{’$ëg g§H«$‘UmÀ`m joÌmVrb Ho${eH$mÀ`m q^Vt‘YyZ ........... ZmdmÀ`m à{H«$ òÛmao Xm~VmV.
1) Decussation 2) Dysplasia 3)Deglutition 4) Diapedesis

19) Neutrophils squeeze through the capillary walls in the area of infection through a process

called...........

1) Decussation 2) Dysplasia 3) Deglutition 4) Diapedesis

20) .......... ¶m noer aº$m{^gaU H$aUmè`m noet‘Ü ò {hñQ>m‘mBZMo à‘wI òmoV AmhoV.
1) E[aW«mogmBQ²g 2) {bå’$mogmBQ²g 3) ~ogmo{’$ëg 4) Ý ỳQ́mo{’$ëg

20) .......... are the chief source of histamine in the circulating cells.

1) Erythrocytes 2) Lymphocytes 3) Basophils 4) Neutrophils

21) ßboQ>boQ> {Z{‘©VrÀ`m {Z §̀ÌUm‘Ü ò gm‘rb Agbobo nXmW© ......... Amho.
1) ßbmpñ‘ZmoOoZ 2) W«moå~monmoE{Q>Z 3) ’$m`q~«OZ 4) E[aW«monmoE{Q>Z

21) The substances involved in the control of platelet production is  .........

1) Plasminogen 2) Thrombopoietin 3) Fibrinogen 4) Erythropoietin

22) EM².Am ²̀.ìhr. {dfmUy earamÀ`m H$moUË`m noetda h„m H$aVmV?
1) œoVnoer 2) cmcnoer 3) W«moå~mogmB©Q>  4) MoVmonoer

22) HIV viruses attack on ........ cells in body.

1) White Blood Cells 2) Red Blood Cells 3) Thrombocytes 4) Nerve Cells

23) earamV cmc aº$noer Hw$R>ë`m Ad`dmV V`ma hmoVmV?
1) c{gH$m dm{hZr 2) aº$Ðd 3) `H¥$V 4) ApñW_‚mm

23) Red Blood Corpuscles in body are produced in ........

1) Iymph vessel 2) plasma 3) liver 4) bone marrow

24) Imbrbn¡H$s H$moUË¶m àH$maÀ¶m nm§T>è¶m aº$ noerMr Q> o̧$dmar {ZamoJr ‘Zwî¶mÀ¶m aº$m‘Ü¶o gdm©V H$‘r AgVo ?
1) {bå’$mogmBQ²g 2) ‘moZmogmBQ²g 3) BAmogZmo{’$ëg 4) ~ogmo{’$ëg

24) Which of the following WBC type has lowest percentage in blood of healthy human ?

1) Lymphocytes 2) Monocytes 3) Eosinophils 4) Basophils

25) ßboQ>boQ> {Z{‘©VrÀ`m {Z §̀ÌUm‘Ü ò gm‘rb Agbobo nXmW© ......... Amho.
1) ßbmpñ‘ZmoOoZ 2) W«moå~monmoE{Q>Z 3) ’$m`q~«OZ 4) E[aW«monmoE{Q>Z

25) The substances involved in the control of platelet production is  .........

1) Plasminogen 2) Thrombopoietin 3) Fibrinogen 4) Erythropoietin

26) qPH$ hm .......... EÝPmB‘Mm A{d^mÁ` ^mJ AgyZ Vmo aº$noet‘Ü ò Cƒ à‘mUm‘Ü ò AgVmo.
1) {Q´pßgZ 2) H$mobrZ 3) H$m~m}{ZH$ EZhm`Sóg 4) [a~moâbo{dZ

26) Zinc is an integral part of the enzyme ........ which is present in high concentration in blood cells.

1) Trypsin 2) Choline 3) Carbonic anhydrase 4) Riboflavin
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27) aº$ JmoR>Ê`m‘Ü ò Jw§Vbobm KQ>H$ XII åhUyZ XoIrb AmoiIbm OmVmo
1) âboMa ’°ŠQ>a 2) hoJo‘Z ’°ŠQ>a 3) p¼g‘g ’°ŠQ>a 4) ñQw>AQ>© ’°ŠQ>a

27) Factor XII involved in blood coagulation is also known as

1) Fletcher factor 2) Hageman factor 3) Christmas factor 4) Stuart factor

28) öX`mH$S>o aº$ dmhÿZ AmUUmè`m aº$dm{hZrg ........... åhUVmV.
1) Y_Zr 2) Y_{ZH$m 3) era 4) _‚mma‚my

28) A blood vesel that carries blood towards the heart is called ......... .

1) Artery 2) Arteriole 3) Vein 4) Spinal cord

29) öX`mH$Sy>Z \w$ß\w$gmH$S>o {S>Am°ŠgrOZoQ>oS> aº$ dmhÿZ ZoUmè`m aº$dm{hZrg ...... åhUVmV.
1) \w$ß\w$gZrcm 2) \w$ß\w$g amo{hUr
3) aº$dm{hZrMr CpÀN>H$m emIm 4) g§doXZm J«mhH$

29) A blood vessel carrying deoxygenated blood from the heart to lungs is called :

1) Pulmonary vein 2) Pulmonary artery

3) Ramus 4) Receptor organ

30) "~§S>c Am°’$ {hO²' (His) Oo  Omio
1) g§nyU© öX¶mV ngacoë¶m ‘‚mmV§VyMo AgVo.
2) g§nyU© öX¶mV ngacoë¶m ñZm¶yV§VyMo AgVo.
3) ’$³V öX¶mVrc Od{ZH$m (d|{Q´>H$c) ‘Ü¶o ngacoë¶m ñZm¶yV§VyMo AgVo.
4) öX¶mVrc Od{ZH$m ‘Ü¶o ngacoë¶m ‘ÁOmV§VyMo AgVo.

30) 'Bundle of His' is a network of

1) nerve fibres found throughout the heart

2) muscle fibres distributed throughout the heart

3) muscle fibres found only in the ventricle

4) muscle fibres distributed in the ventricle

31) öX`mÀ`m COì`m AmqbX q^Vr‘Ü¶o OoWo H«°${Z`b ìhoZm H$mdm CKS>Vo Ë`m OmJoOdi, öX`mÀ`m ñZm ỳ§À`m Am§V[aH$
b`~Õ AmHw§$MZmMo {Z`‘Z H$aUmam H$moUVm KQ>H$ AgVmo ?
1) Eìhr ZmoS> 2) EgE ZmoS>
3) Eìhr ZmoS> Am{U EgE ZmoS> 4) darbn¡H$s H$mhrhr Zmhr

31) Which structure is situated in right atrial wall of heart close to the opening of cranial vena cava

that regulates the intrinsic rhythmic contraction of cardiac muscles?

1) A. V. node 2) S. A. node

3) A. V. node and S. A. node 4) None of the above

32)  dm°Q>a-h°‘a ZmS>r ........ ‘Ü ò {XgV Zmhr.
1) Wm`amoQ>m°pŠgH$mo{gg 2) ‘m¶Q´>b [aJ{O©Q>oeZ
3) ~oar~oar 4) ‘hmY‘Zr arJ{J©Q>oeZ

32) Water-Hammer pulse is not seen in  ........

1) Thyrotoxicosis 2) Mitral regurgitation

3) Beriberi 4) Aortic regurgitation
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33) Imbrb Am¡fYm§n¡H$s pìhQ>°{‘Z Ho$ {damoYr A±{Q>H$moA°Jwb§Q> åhUOo -
1) EZmoŠgmn[aZ 2) S>mëQ>on[aZ 3) dm°a’o$[aZ 4) hon[aZ

33) One among the following drug is a Vitamin K antagonist anticoagulant.

1) Enoxaparin 2) Dalteparin 3) Warfarin 4) Heparin

34) 24 Vmgm§À`m AmV Cera Pmbobm aº$òmd, Omo gm‘mÝ`V: nwZéËWmZmZo JwR>ù`m ~mhoa nS>ë`m‘wio hmoVmo, Ë`mbm
_______ åhUVmV.
1) àmW{‘H$ aº$òmd 2) à{V{H«$`mË‘H$ aº$òmd
3) Xwæ`‘ aº$òmd 4) V¥Vr`H$ aº$òmd

34) A delayed Haemorrhage occurring within 24 hours, which is usually due to dislodgement of clot

by resuscitation, is called as ______.

1) Primary Haemorrhage 2) Reactionary Haemorrhage

3) Secondary Haemorrhage 4) Tertiary Haemorrhage

35) OÝ‘OmV öX`{dH$mamer g§~§{YV {Xboë`m OÝ‘OmV {dH¥$Vr qgS´mo‘‘Yrb MwH$sMr OmoS>r AmoiIm.
1) ‘ma’$mZ qgS´mo‘ - {dñVm[aV Am{U {dÀN>oXZ ‘hmY‘Zr
2) {dë`‘ qgS´mo‘ - gwàdmëì ẁba ‘hmY‘Zr ñQ>oZmo{gg
3) Eñßbo{Z`m qgS´mo‘ - A°{Q´̀ b goßQ>b Xmof
4) ’o$Q>b hm`S|>Q>moBZ qgS´mo‘ - ’°bmoQ>Mo Q>oQ´mbm°Or

35) Identify the incorrect pair among given Congenital Malformation Syndromes Associated with

Congenital Heart Disease.

1) Marfan syndrome - Dilated and dissecting aorta

2) William syndrome - Supravalvular aortic stenosis

3) Asplenia syndrome - Atrial septal defect

4) Fetal hydantoin syndrome - Tetralogy of Fallot

36) noQ>§Q> S>ŠQ>g AmQ>}[aAmogg ~Ôb Imbrbn¡H$s H$moUVo {dYmZ Iao Amho?
1) ‘moR>çm S>mì`m Vo COì`m e§Q>Mo gyMH$ åhUyZ Aé§X ZmS>rMm Xm~ {XgVmo.
2) ‘moR>çm S>mdrH$Sy>Z COdrH$S>o e§Q>Mo gyMH$ åhUyZ {dñVrU© ZmS>r Xm~ {XgyZ òVmo.
3) ‘moR>çm COdrH$Sy>Z S>mdrH$S>o e§Q>Mo gyMH$ åhUyZ {dñV¥V ZmS>r Xm~ {XgVmo.
4) ‘moR>çm COdrH$Sy>Z S>mdrH$S>o e§Q>Mo gyMH$ åhUyZ Aé§X ZmS>rMm Xm~ {XgVmo.

36) Which of the following statement is true about Patent ductus arteriosus?

1) Narrow pulse pressure as an indicator of large left to right shunt is seen.

2) Wide pulse pressure as an indicator of large left to right shunt is seen.

3) Wide pulse pressure as an indicator of large right to left shunt is seen.

4) Narrow pulse pressure as an indicator of large right to left shunt is seen.

37) W«moå~moBå~mo{bP‘À`m CnMmam§~m~V H$m` Iao Amho?
1) dm°a’o$[aZ Woanr à^mdr hmoB©n ª̀V hon[aZ AmoVUo {Xbo nm{hOo
2) 24% Am°pŠgOZ WoanrZo hm`nmoŠgo{‘`m XwéñV Ho$bm nm{hOo
3) dm°a’o$[aZ Woanr 4 AmR>dS>o Mmby R>odmdr
4) ñQóßQ>mo{H$ZoO Woanr Ëd[aV Úmdr
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37) What is true regarding treatment of thromboembolism?

1) Heparin infusion should be given until warfarin therapy has become effective

2) 24% oxygen therapy should correct hypoxaemia

3) Warfarin therapy should be continued for 4 weeks

4) Streptokinase therapy should be given immediately

38) Oa é½Umbm Imbrbn¡H$s EH$ Q´m`S> Agob Va ’$mQ>boë`m AmoQ>rnmoQ>mV ‘hmY‘Zr Y‘Zr{dñ’$m[aV hmoÊ`mMr e§H$m Amho:
1) qgH$mon, hm`nmoQ>oÝeZ, nëgoQ>mBb AmoQ>rnmoQ>mV dñVw‘mZ
2) Vrd« AmoQ>rnmoQ>mV / nmR>XwIr, hm`nmoQ>oÝeZ, qgH$mon
3) Vrd« AmoQ>rnmoQ>mV / nmR>XwIr, hm`nmoQ>oÝeZ, AmoQ>rnmoQ>mMm ’w$JdQ>m
4) W«oS> ZmS>r, AmoQ>rnmoQ>mV doXZm, qgH$mon

38) Ruptured abdominal aortic aneurysm is suspected if the patient has triad of one of the following:

1)  Syncope, hypotension, pulsatile abdominal mass

2)  Severe abdominal/ back pain, hypotension, syncope

3)  Severe abdominal/ back pain, hypotension, pulsatile abdominal mass

4)  Thready pulse, Pain abdomen, Syncope

5) ‘mZdr ñZm¶y d AñWr g§ñWm
1) ApñWg§ñWm hr Imbrbn¡H$s H$moUVo H$m¶© H$aVo?

A) g§ajU ~) aº$moËnmXZ / é{YaOZZ
H$) hmbMmb gwb^Vm S>) jmamMo g§dY©Z/gmR>m
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, H$ Am{U S> 4) darb gd©

1) The skeletal system performs which of the following functions?

a) Protection b) Hematopoiesis

c) Movement facilitation d) Mineral storage

Answer Options :

1) a, b and c 2) b, c and d 3) a, c and d 4) All of the above

2) H$moUVm YmVy _mZdr earamV OmñV à_mUmV AmT>iVmo ?
1) gmoS>r`_ 2) _°¾o{e`_ 3) H°$pëe`_ 4) nmoQ>çm{e`_

2) The most abundant metal present in the human body is ......

1) Sodium 2) Magnesium 3) Calcium 4) Potassium

3) A{Vl‘m‘wio ñZm¶yXþIr‘Ü¶o Imcrcn¡H$s H$moUVo agm¶Z O~m~Xma AgVo?
1) c°pŠQ>H$ Amåc 2) BWoZm°c 3) ’$m°{‘©H$ Amåc 4) A°ñH$m°{~©H$ Amåc

3) Which of the following chemicals is responsible for the aching of muscle after vigorous muscular

activity?

1)  Lactic acid 2) Ethanol 3)  Formic acid 4) Ascorbic acid
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4) Imbrbn¡H$s H$moUVr {dYmZ/{dYmZo ''gmaH$mo‘oAa'' ~Ôb gË¶ Amho/AmhoV?
a) gmaH$mo‘oAa ho H$moUË¶mhr V§VyMo I§S> AmhoV.
b) Vo CVH$s¶ g§aMZm Am{U {H«$¶mË‘H$ H$m¶m©Mm ^mJ AmhoV.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) ’$º$ 3) (a) Am{U (b) XmoÝhr 4) darbn¡H$s H$moUVohr Zmhr

4) Which of the following statement/s is/are true for sarcomere?

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above

5) A{ZË¶ V§Vy Am{U ñZm ỳ g§Hw$MZ {gÕm§Vm ~m~V Imbrb {dYmZo bjmV ¿¶m …
A) hm {gÕm§V AmYw{ZH$ ñZm ỳ g§Hw$MZ g§H$ënZm ñnï> H$aVmo.
~) hm {gÕm§V h³gbo Am{U {ZS>aOaHo$ ¶m emókm§Zr ‘m§S>bm.
darbn¡H$s H$moUVo {dYmZ/{dYmZo gË¶ AmhoV ?
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhr 4) H$moUVo hr Zmhr

5) Consider the following statements about sliding filament theory of muscle contraction :

a) This theory explains the modern concept of muscle contraction.

b) This theory was put forward by Huxley and Niedergerke.

Which of the above statements is/are true ?

Answer Options :

1) Only a 2) Only b 3) Both a and b 4) None of the above

6) Imbrb {dYmZo {dMmamV ¿¶m …
A) ‘mZdr gm§JmS>çmV nmM àH$maMr hmS>o AgVmV.
~) dOZmbm AmYma XoUo Am{U hmbMmbr gwb^ H$aUo hr bm§~ hmS>m§Mr (Long bones) H$m¶} AmhoV.
H$) ñZm¶y~§Ym§Zm X~mdmnmgyZ dmM{dUo ho gnmQ> hmS>m§Mo (Flat bones) H$m¶© Amho.
n¶m©¶r CÎmao …
1) {dYmZo A, ~ ~amo~a 2) {dYmZo ~, H$ ~amo~a
3) {dYmZo A, H$ ~amo~a 4) gd© {dYmZo ~amo~a

6) Consider the following statements :

a) There are five types of bones in the skeleton.

b) The function of the long bones is to support weight and facilities movement.

c) The function of the flat bones is to protect tendons from stress.

Answer Options :

1) Statements a and b are correct 2) Statements b and c are correct

3) Statements a and c are correct 4) All the statements are correct

7) AmYw{ZH$ ‘mZdmnojm H$moUË¶m ‘mZdmÀ¶m nyd©Om‘Ü¶o H$nm©aJw{hHo$Mr j‘Vm A{YH$ hmoVr?
1) {ZA§S>aWc ‘°Z 2) Omdm ‘°Z 3) noqH$J ‘°Z 4) H«$mo-‘°¾m°Z ‘°Z

7) Which primitive man had greater cranial capacity than the modern man?

1) Neanderthal man 2) Java man 3) Peaking man 4) Cro-Magnon man
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8) Imcrc ‘m{hVrda AmY[aV ¶mo½¶ {dYmZ H$moUVo?
H¥${VhrZVo‘wio Jw§VmJw§VrÀ¶m M¶mnM¶ ~Xcm§Mm AmoK {Z‘m©U hmoVmo. Z dmnacoë¶m ñZm¶y§Mm Anj¶ hmoVmo, Vo ghZerc ahmV
ZmhrV Ë¶m§Mr Ma~rMo ÁdcZ KS>dÊ¶mMr j‘Vm g§nyZ Vo AmIS>m¶cm cmJVmV Am{U ‘moR>çmà‘mUmV ½cwH$moOda Adc§~yZ
amhÿ cmJVmV. H¥${VhrZ ñZm¶yÀ¶m noetVrc ‘m¶Q>moH$m±{S´>¶m åhUOo Ma~rMo ÁdcZ H$aUmè¶m D$Om© W¡ë¶m Zmhrem hmoD$
cmJVmV. ho ñZm¶y Vo Oo H$mhr Oamgo H$m‘ H$aVmV Ë¶mgmR>r Vo H$m~m}hm¶S´>oQ>gda Adc§~yZ amhÿ cmJVmV, n[aUm‘r Z
Oicoco {c{nS> O‘m hmoD$ cmJVmV d aº$ Iyn Ma~r¶wº$ hmoVo.
H¥${VH«$‘ :
A) cmoH$m§Zr OmñV à‘mUmV H$m~m}hm¶S´>oQ²>g AgUmao AÞ ImUo Wm§~dm¶cm hdo.
~) cmoH$m§Zr aº$mVrc Ma~rMm gmR>m H$‘r ìhmdm, ¶mgmR>r Ma~r¶wº$ AÞKQ>H$ ImUo Q>mim¶cm hdo.
H$) cmoH$m§Zr gwÑT> ahmÊ¶mgmR>r earamÀ¶m gd© ñZm¶y§Zm g‘m{dï> H$aUmè¶m H¥$Vr Ho$ë¶m nm{hOoV.
n¶m©¶r CÎmao …
1) gd© VrZ H¥${ÌH«$‘ ¶mo½¶ AmhoV. 2) ’$º$ A d ~ ho H¥${VH«$‘ ¶mo½¶ AmhoV.
3) ’$º$ A hm H¥${VH«$‘ ¶mo½¶ Amho. 4) ’$º$ H$ hm H¥${VH«$‘ ¶mo½¶ Amho.

8) Which one of the following is the True Statement based on this information ?

Inactivity produces a complex cascade of matabolic changes. Unused muscles atrophy, and shift

from endurance type muscle fibre, which can burn fat to fast-twitch fibers that rely more strongly

on glucose. Inactive muscles lose mitochondria, power packs of the cell, which burn fat. With

muscles relying more on carbohydrates for what little work they are doing, unburned lipids

accumulate and blood becomes very fatty.

Courses of action :

a) People should stop eating food that contains large amount of carbohydrates.

b) People should avoid flood that contains fats for reducing accumulation of fats in blood.

c) People should keep on doing activities that involve all muscles of the body for remaining

healthy.

Answer Options :

1) All three courses of action 2) Only a and b follow

3) Only a follows 4) Only c follows

9) Imcrcn¡H$s {dg§JV n¶m©¶ H$moUVm ?
1) àJ§{S>H$m 2) C{d©H$m 3) ~hràH$moð> 4) A§g’$cH$

9) Spot the odd one out?

1) Humerus 2) Femur 3) Radius 4) Scapula

10) ______bm EH$ {deof a’$ëS> Aåbr` gr‘m AgVo Or hmS>m§À`m AdemofUmgmR>r A{V[aº$ n¥ð>^mJ àXmZ H$aVo.
1) Am°pñQ>`mogmBQ²g 2) Am°pñQ>`moŠbmñQ> 3) Am°pñQ>`moãbmñQ> 4) AmoS>moÝQ>moãbmñQ>

10) ______ have a specialised ruffled acidic border that provides additional surface area for bone

resorption.

1) Osteocytes 2) Osteoclasts 3) Osteoblasts 4) Odontoblasts

11) ______gm§Yo ‘moR>çm à‘mUmV hmbMmb H$aÊ`mg nadmZJr XoVmV.
1) V§Vw‘` 2) H$m{Q©>bm{JZg 3) gm`Zmopìh`b 4) qgH$moÝS´mo{gg

11) ______ joints permit a great deal of movement.

1)  Fibrous 2)  Cartilaginous 3)  Synovial 4)  Synchondrosis
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12) Imbrbn¡H$s H$moUVo H«°${Z`b {gdZr Zmhr?
1)  ~mUy 2)  H$moamoZb 3)  {gpå’${gg 4) ñ¹°$‘mogb

12) Which of the following is NOT a cranial suture?

1)  Sagittal 2)  Coronal 3)  Symphysis 4) Squamosal

13) {P’$mB©S> à{H«$`m______ Mm EH$ ^mJ Amho.
1) hm`m°BS> 2) ñQ>Z©‘ 3) [aãg 4) lmo{U

13) The xiphoid process is a part of the ______.

1)  hyoid 2) sternum 3)  ribs 4) pelvis

14)  ______ho b¢{JH$ {Ûê$nVogmR>r ng§VrMo H§$H$mb KQ>H$ Amho.
1) lmo{U 2) ~aJS>çm 3) øw‘ag 4) ñH°$nwbm

14) ______ is the preferred skeletal element for sexual dimorphism.

1) Pelvis 2)  Ribs 3)  Humerus 4)  Scapula

15) àmW{‘H$ ñOmoJ«oÝg qgS´mo‘À`m AmoiIë`m OmUmè`m d¡{eï²>`m§~Ôb Imbrbn¡H$s H$moUVo gË` Zmhr?
1) {bå’$mo‘mMr dmT>bobr KQ>Zm 2) {ó`m§nojm A{YH$ nwéf à^m{dV
3) b°{H«$‘b òmd Xa H$‘r 4) S>moio, Vm|S> Am{U `moZr H$moaS>o hmoUo

15) Which among the following is NOT true about recognized features of primary Sjögren's syndrome?

1)  An increased incidence of lymphoma 2)  More males affected than females

3)  Reduced lacrimal secretion rate 4)  Dryness of eyes, mouth and vagina

16) hm`naEŠgQ>oÝeZ - hm`naâboŠeZ BOm Amho:
1) Oo’$agZMo ’«°$ŠMa 2) h±J‘°ZMo ’«°$ŠMa 3) ~{Hª$J 4) pìhnc°e

16) Hyperextension - hyperflexion injury is:

1)  Jefferson’s fracture 2)  Hangman’s fracture 3)  Burking 4)  Whiplash

17) 'OZ©b Am°’$ p³b{ZH$b EÝS>moH«$m¶Zm°bm°Or' A°ÊS> ‘oQ>m~m°{bP‘ ‘Ü¶o à{gÕ Pmbobo, Q´>m¶³bmogZ ho agm¶Z Am{U
Ë¶mÀ¶m g§nH$m©Mm hmS>m§Mr I{ZO KZVm VgoM hmS>m§À¶m {T>gyinUmMm ¶m§À¶mVrb ghg§~§YmMm emoY KoUmao Ë¶m àH$maMo
n{hboM g§emoYH$ Amho. gm~U, Qy>WnoñQ>, hmVg’$mB© gm~U BË¶mXr àH$maÀ¶m J«mhH$mon¶moJr CËnmXZm§À¶m ‘mÜ¶‘mVyZ
ì¶º$s Q´>m¶³bmogZÀ¶m g§nH$m©V ¶oD$ eH$Vo. VWm{n Q´>m¶³bmogZ d ‘mZdr hmS>m§Mo Amamo½¶ ¶m§À¶m g§~§Ym{df¶r ’$maM
WmoS>r ‘m{hVr CnbãY Amho. 'àmÊ¶m§Vrb hmS>m§À¶m KZVoda {dnarV n[aUm‘ H$aÊ¶mMr j‘Vm Q´>m¶³bmogZ‘Ü¶o AgÊ¶mÀ¶m
e³¶VoMo àmË¶{jH$ à¶moJemioVrb Aä¶mgm§VyZ Pmbobo Amho' Ago Q´>m¶³bmogZÀ¶m n[aUm‘m§Mm Aä¶mg H$aUmè¶m
d¡km{ZH$mZo åhQ>bo Amho. gXa ‘m{hVrda AmY[aV Imbrbn¡H$s ¶mo½¶ {dYmZ H$moUVo?
1) àmÊ¶m§À¶m hmS>m§da hmoUmè¶m Q´>m¶³bmogZÀ¶m n[aUm‘m§~m~V ’$ma WmoS>r ‘m{hVr CnbãY Agbr Varhr darb ¶mXrV

Agboë¶m CËnmXZm§V Ë¶mMm dmna H$aÊ¶mda ~§Xr KmbUo Amdí¶H$ Amho.
2) ‘mZdr hmS>m§da Zo‘H$m H$moUVm n[aUm‘ hmoVmo ho ‘mhrV Zgë¶m‘wio ì¶º$s dmnaV Agboë¶m {d{dY CËnmXZm§V

Q´>m¶³bmogZMm dmna H$aÊ¶m~m~V H$moUVmhr à{V~§YH$ Cnm¶ H$aÊ¶mMr Amdí¶H$Vm Zmhr.
3) Q´>m¶³bmogZ Am{U hmS>m§À¶m I{ZOm§Mr KZVm ¶m§À¶mVrb ghg§~§Y ¶m§Mm emoY nyduM KoVbm Agë¶m‘wio ì¶º$s dmnaV

Agboë¶m {d{dY CËnmXZm§Vrb Ë¶mÀ¶m dmnamda ~§Xr KmbUo Amdí¶H$ Amho.
4) Q´>m¶³bmogZ‘Ü¶o àmÊ¶m§À¶m hmS>m§À¶m KZVoda n[aUm‘ H$aÊ¶mÀ¶m j‘VoÀ¶m e³¶VoMo àmË¶{jH$ H$mhr Aä¶mgmVyZ

XmI{dbo Joë¶m‘wio ì¶º$s dmnaV Agboë¶m {d{dY CËnmXZm§V Ë¶mMm dmna H$aÊ¶mda ~§Xr KmbUo Amdí¶H$ Amho.
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17) The research published in the 'Journal of Clinical Endocrinology and Metabolism', is the first of

its kinds to investigate the association between the chemical triclosan, exposure with bone mineral

density and osteoporosis. A person can be exposed to triclosan via consumer products like soaps,

toothpastes, sanitizers and other such products. 'However little is known abou the relationship

between triclosan and human bone health. Laboratory studies have demonstrated that triclosan

man have potential to adversely affect the bone density in animals,' said one scientist studying

effects of triclosan.

Which one of the following is the True Statement based on this information ?

1) It is necessary to ban use of triclosan in the products listed above though very little is known

about its effect on animal bones.

2) Since exact effect of triclosan on human bone is not known, there is no need to take any

precaution about its use in different products used by human beings.

3) Since the association between triclosan and its exposure with bone mineral density is already

investigated, it is necessary to ban its use in various products used by human beings.

4) Since some studies have demonstrated that triclosan may have potential to affect bone density

in animals, it is necessary to ban its use in various products used by humans.

18) EH$ ‘°{ZQ>m°b AëH$cmB©Z {S´n _______ À`m ì`dñWmnZmgmR>r Iyn Cn ẁº$ Amho.
1) H«$e BOm 2) GAS J±JarZ
3) H§$nmQ>©‘|Q> qgS´mo‘ 4) ZoH«$moQ>mBqPJ ’°{gQ>m`{Q>g

18) A mannitol alkaline drip is very useful in management of ______.

1) CRUSH injury 2) GAS Gangrene

3) Compartment syndrome 4) Necrotizing fasciitis

19) Imbrb gd© H$maUo dJiVm {dVaUmË‘H$ Y³³`mMr H$maUo AmhoV :
1) gopßQ>H$ em°H$ 2) A°Zm{’$bopŠgg
3) nmR>rÀ`m H$Ê`mbm XwImnV 4) Vrd« aº$òmd

19) ALL of the following are causes for Distributive shock EXCEPT :

1) Septic shock 2) Anaphylaxis

3) Spinal cord injury 4) Acute Haemorrhage

20) ______ À`m ~m~VrV {J«qgOa {MÝh gH$mamË‘H$ Amho.
1)  ~mø Jiy 2)  noQ´mo{g{g{Q>g
3)  nmíd© gm`Zg W«moå~mo{gg 4)  g~S>çyab Jiy

20) Griesinger sign is positive in a case of ______.

1) Extradural abscess 2) Petrositis

3) Lateral sinus Thrombosis 4) Subdural abscess

21) E{nñQ>°pŠggMr Y‘Zr ______ Amho.
1) J«oQ>a n°bm{Q>Z Y‘Zr 2) Mohè`mdarc Y‘ZrMr gw{n[a`a bo{~`b emIm
3) nyd©dVu ethmoidal Y‘Zr 4) ñ’o$Zmon°bm{Q>Z Y‘Zr

21) The artery of Epistaxis is ______.

1) Greater palatine artery 2) Superior labial branch of facial artery

3) Anterior ethmoidal artery 4) Sphenopalatine artery
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22) Imbrb gd© ~m~r dJiVm ~Z© é½UmÀ`m n[aUm‘mMo à‘wI {ZYm©aH$ AmhoV :
1)  Q> o̧$dmar n¥ð>^mJ Jw§Vbobo AmhoV 2)  ~Ýg©Mr Imobr
3)  BZhocoeZ XwImnVrMr CnpñWVr 4)  ~Ýg© gmBQ> nmgyZ g§gJ©

22) ALL of the following are the major determinants of the outcome of BURN’S patient EXCEPT :

1)  Percentage surface are involved 2)  Depth of Burns

3)  Presence of an inhalational injury 4)  Infection from the burns site

23) Oiboë`m é½UmÀ`m nwZéËWmZmgmR>r gm‘mÝ`V… dmnabo OmUmao H$mocmB©S> Ðd ______ Amho.
1) [a¨Ja b°ŠQ>oQ> 2) S>oŠñQ´moO gbmB©Z
3) ‘mZdr Aëã ẁ{‘Z gmoë ỳeZ (HAS) 4) gm‘mÝ` gbmB©Z

23) The commonly used colloid fluid for resuscitation in a burns patient is ______.

1)  Ringer’s lactate 2)  Dextrose saline

3)  Human Albumin Solution (HAS) 4)  Normal saline

24) AmonZ ’«°$ŠMagmR>r Tscherne dJuH$aUmZwgma, ^mar Xy{fVVogh ’«°$ŠMa, ‘‚mmV§VyÀ`m XwImnVter g§~§{YV AË¶m{YH$
‘D$ D$VtMo ZwH$gmZ ______ A§VJ©V òVo.
1) J«oS> I 2) J«oS> II 3) J«oS> III 4) J«oS> IV

24) As per Tscherne classification for open fractures, A fracture with heavy contamination, Excessive

soft tissue damage associated with neural injuries comes under ______.

1)  Grade I 2)  Grade II 3)  Grade III 4)  Grade IV

25) ~aJS>çm H$mnÊ`mgmR>r Am{U djñWimMr nmoH$ir CKS>Ê`mgmR>r Imbrbn¡H$s H$moUVm dmna Ho$bm OmVmo?
1) H$m°ñQ>moQ>mo‘ 2) EÝQ>amoQ>mo‘
3) Metzenbaum H$mÌr 4) H°$pëQ>Z MmHy$

25) Which of the following is used to for cutting the ribs and opening the thoracic cavity?

1)  Costotome 2) Enterotome

3) Metzenbaum scissors 4) Caltin knife

26) Vrd« àmW{‘H$ H$moZ ~§X H$mMq~XyMo gm‘mÝ` bjU ______ Amho.
1) bmb S>moù`mer g§~§{YV Vrd« ZoÌXwIr 2) Ñï>r‘Ü ò Vrd« KQ>
3) a§JrV haloes Zm|Xdbo OmD$ eH$VmV 4) Vrd« S>moHo$XwIr, ‘i‘i Am{U CbQ>çm

26) The common symptom of acute primary angle closure glaucoma is ______.

1) Severe ocular pain associated with red eye    2) Profound decrease in vision

3) Coloured haloes may be reported       4) Severe headache, nausea and vomiting

27) Imbrbn¡H$s gd© J«oS>o{ZJmo qgS´mo‘Mr d¡{eï²> ò AmhoV.
1) H$m°ÝQ´mboQ>ab ’o$g (VII N) À`m gh^mJmMm njmKmV 2) AmoQ>mo[a`m
3) aoQ´mo Am°{~©Q>b doXZm (V N) gh^mJ 4) b°Q>ab aoŠQ>g nmëgr (VI N) gh^mJ

27) ALL of the following are characteristics of GRADENIGO’S SYNDROME EXCEPT :

1) Paralysis of contralateral face (VII N) involvement

2) Otorrhea

3) Retro orbital pain (V N) involvement

4) Lateral rectus palsy (VI N) involvement
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28) ¹$m{S´goßg ’o$‘mo[ag ñZm ỳ AmoT>ë`m‘wio n°Q>obmÀ`m daÀ`m Y«wdmMo ’«°$ŠMa ho ______ Mo CXmhaU Amho.
1) à^m{dV ’«°$ŠMa 2) VmU ’«°$ŠMa
3) H$m°åàoeZ ’«°$ŠMa 4) Avulsion ’«°$ŠMa

28) Fracture of upper pole of patella due to pull of quadriceps femoris muscle is an example

for______.

1)  Impacted fracture 2)  Stress fracture

3)  Compression fracture 4)  Avulsion fracture

29) Imbrb gd© A°Q´mo{’$H$ àH$maÀ`m Zm°Z- ẁ{Z`Z dJiVm d¡{eï²> ò AmhoV :
1)  VwH$S>o OS> Am{U g§dhZr AgVmV
2) ’«°$ŠMa n¥ð>^mJm§Mm ñŠboamo{gg Amho Am{U ao{S>Amobm°{OH$b arVrZo ‘oS>çwbar H°$Zm°b ~§X Amho
3) Q>moHo$ {Z‘wiVo, Am°pñQ>`monmoamo{Q>H$ Am{U Iyn ‘mo~mBb AmhoV
4) AJXr gm`Zmopìh`b AñVam§gh ~ZmdQ> gm§Yo V`ma hmoD$ eH$VmV

29) ALL of the following are characteristics of Atrophic type of NON-UNION EXCEPT :

1)  The fragments are inert and avascular

2)  There is a sclerosis of fracture surfaces and closure of medullary canal radiologically

3)  The ends are tapering, osteoporotic and very mobile

4)  There may be formation of a fake joint with even a synovial lining

30) gwàmH$m°ÝS>m`ba ’«°$ŠMaMr Jw§VmJw§V åhUyZ gdm©V gm‘mÝ`nUo Jw§Vbobr ‘‚mmV§Vy ______ Amho.
1)  ‘Ü`dVu ‘‚mmV§Vy 2)  nyd©dVu B§Q>amo{g`g ‘‚mmV§Vy
3)  ao{S>`b ‘‚mmV§Vy 4)  CëZma ‘‚mmV§Vy

30) The most commonly involved nerve as a complication of supracondylar fractures is ______.

1) Median nerve 2) Anterior interosseous nerve

3) Radial nerve 4) Ulnar nerve

31) J°boPr ’«°$ŠMa {S>ñbmoHo$eZ ______ Amho.
1)  CbZmÀ`m {dñWmnZmer g§~§{YV {ÌÁ`mÀ`m XyaÀ`m emâQ>Mo ’«°$ŠMa
2)  {ÌÁ òÀ`m S>moŠ`mÀ`m {dñWmnZmgh CbZmÀ`m àm°pŠg‘b WS>©Mo ’«°$ŠMa
3)  {dñWmnZ Z H$aVm CbZmÀ`m ImbÀ`m {Vgè`m ^mJmMo ’«°$ŠMa
4)  bmoAa ao{S>`b E{n’o${ggMo ’«°$ŠMa n¥W¸$aU

31) The Galeazzi fracture dislocation is ______.

1) Fracture of distal shaft of radius associated with dislocation of ulna

2) Fracture of proximal third of ulna with dislocation of the head of radius

3) Fracture of lower third of ulna without displacement

4) Fracture separation of lower radial epiphysis

32) ’°$‘aÀ`m ‘mZoÀ`m ’«°$ŠMagmR>r JmS>©Z dJuH$aU ______ da AmYm[aV Amho.
1)  earaemór` gmBQ> 2)  ’«°$ŠMa H$moZ
3)  ’o$‘moab S>moHo$Mo {dñWmnZ 4)  H$å ẁÝ ẁeZMr ì`már

32) Garden classification for fracture neck of femur is based on ______.

1) Anatomic site 2) Fracture angle

3) Displacement of femoral head 4) Extent of comminution
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33) AëJmoa ‘m°{Q©>g hr nmoñQ>‘m°Q>©‘ KQ>Zm H$moUmÀ`m VÎdm§da AmYm[aV Amho?
1) dm°ëWa ZoÝñQ>© 2) S>m°. Ho$. Eg. Zmam`U aoÈ>r
3) éS>m°ë’$ Šbm°{e`g 4) ga Am`P°H$ Ý ỳQ>Z

33) Algor Mortis, a post-mortem phenomena is based on the principles laid down by whom?

1)  Walther Nernst 2)  Dr. K. S. Narayan Reddy

3)  Rudolf Clausius 4)  Sir Isaac Newton

34) [aJa ‘m°{Q©>gÀ`m nmoñQ>-‘m°Q>©‘ KQ>ZoÀ`m {d ôXH$ {ZXmZmVyZ Imbrbn¡H$s H$moUVo doJio Amho?
1) H°$S>oìh[aH$ C~i 2) CîUVm H$S>H$ hmoUo
3) W§S> H$S>H$ hmoUo 4) C~Xma H$S>H$ hmoUo

34) Which of the following stands out of the differential diagnosis to the post-mortem phenomena of

Rigor Mortis?

1)  Cadaveric spasm 2)  Heat stiffening

3)  Cold stiffening 4)  Warm stiffening

35) Imcrcn¡H$s H$moUË`m H$maUmgmR>r gwna-B§ånmo{PeZMm dmna Ho$cm OmVmo ?
1) _mZdr H$dQ>r d _¥V _mUgmÀ`m N>m`m{MÌmMr AmoiI nQ>{dÊ`mgmR>r
2) _mZdr H$dQ>rMr _¥VmÀ`m AmB©d{S>cm§À`m N>m`m{MÌmMr AmoiI nQ>{dÊ`mgmR>r
3) _mZdr H$dQ>r d àmÊ`m§Mr H$dQ>r `m§Mr VwcZm H$aÊ`mgmR>r
4) darcn¡H$s H$mhrhr Zmhr

35) In which of the following Superimposition Technique is used ?

1) Identifying human skull with photographs of deceased.

2) Identifying human skull with photographs of deceased’s parents.

3) Comparing human skull with animal skull.

4) None of the above.

36) _¥VH$mMr AmoiI nQ>{dÊ`mÀ`m H$m_r Ë`mMr H$dQ>r/gm§JmS>m gmnS>Vmo Aem doiog _¥VH$mMr AmoiI H$moUË`m àH$mamÛmao
Ho$cr OmVo ?
1) j-{H$aU 2) \$moQ>moJ«m\$s-N>m`m{MÌU
3) gwna B§nmo{PeZ \$moQ>moJ«m\$s 4) BÝ\«$maoS> {H$aU

36) The deceased can be identified with the use of photography of his skull images/skeletal remains

by :

1) X-Ray 2) Photography

3) Super Imposition Photography 4) Infrared rays

37) éVboë¶m nm¶m§À¶m R>em§À¶m Zm|Xr KoÊ¶mMo Mma àH$ma AmhoV. Imbrbn¡H$s MwH$sMr nÕV H$moUVr ?
1) ßb°ñQ>aMm dmna H$ê$Z 2) ‘oUmMm dmna H$ê$Z
3) ‘mVrÀ¶m {MIbmMm dmna H$ê$Z 4) H$mModa aoImQy>Z

37) Sunken footprints are lifted and recorded in four ways. Which of the following is not correct ?

1) By using plaster 2) By using wax

3) By using clay 4) By sketching on glass
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38) Imbrb Z‘yX n¶m©¶mn¡H$s, H$moUË¶m n¶m©¶mMm g‘mdoe MmbÊ¶mÀ¶m nÕVrMo (Gait Pattern) {díbofUmV e³¶ hmoUma
Zmhr ?
1) MmbUmè¶m {Xem 2) ì¶º$sMr eara`ï>r
3) ì¶º$sMo qbJ (ór qH$dm nwéf) 4) ~mobUmar ^mfm

38) Of the following options, which is not possible to determine from the analysis of a Gait Pattern?

1) Direction of walker 2) Build of person

3) Sex ofthe person (female or male) 4) Language spoken

6) ‘mZdr A§V…òmdrg§ñWm
1) Imbrbn¡H$s H$moUVr 'g§àoaHo$' {nQy>Q>ar J«§WrMr AmhoV?

A) Q>r.Eg.EM. ~) Eg.Q>r.EM. H$) EM.gr.Or. S>) E.S>r.EM.
n¶m©¶r CÎmao …
1) A Am{U ~ 2) ~ Am{U H$ 3) A, ~ Am{U S> 4) A, ~ Am{U H$

1) Which of the following are hormones of the pituitary gland?

a) TSH b) STH c) HCG 4) ADH

Answer Options :

1) a and b 2) b and c 3) a, b and d 4) a, b and c

2) {nQ>¶yQ>ar J«§Wr ¶m A§V…òmdr J«§Wr AgyZ ‘|Xÿ‘Yrb hm¶nmoWmbo‘g ‘Ü¶o AgVo, Vr AZoH$ g§àoaHo$ òdVo.
a) {Vbm ‘mñQ>a A§V…òmdr J«§Wr åhUVmV.
b) {VÀ¶m nwT>rb ^mJmV Ý¶wamohm¶nmo’$m¶grg Va ‘mJrb ^mJmV A°S>rZmohm¶nmo’$m¶grg åhUVmV.
c) {nQ>¶yQ>arÀ¶m ‘mJrb ^mJmVyZ Am°³grQ>mogrZ Am{U ìhogmoàogrZ hr g§àoaHo$ òdVmV.
d) Eg.Q>r.EM., {Q>.Eg.EM., E.gr.{Q>.EM., hr g§àoaHo$ A°S>rZmohm¶nmo’$m¶grg ‘YyZ òdVmV.
darbn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a Amho/V?
1) (a), (c) Am{U (d) 2) ’$º$ (a) Am{U (c)

3) ’$º$ (d) 4) ’$º$ (b) Am{U (d)

2) Pituitary gland is endocrine gland connected to hypothalamus at the base of the brain. It secretes

many hormones.

a) It is called as master endocrine gland.

b) Its anterior part is neurohypophysis and posterior is adenohypophysis.

c) Oxytocin and Vasopressin are secreted by posterior pituitary.

d) STH, TSH, ACTH are secreted by adenohypophysis.

Which of the statements given above is/are correct?

1) (a), (c) and (d) 2) Only (a) and (c) 3) Only (d) 4) Only (b) and (d)

3) 4 df© d¶mÀ¶m ‘wcmÀ¶m A°ÝQ>rarAa {nQ>çwQ>arg EH$m AnKmVmV J§̂ ra hmZr nmohmoMcocr hmoVr. Varhr Vmo VJ Yê$Z {Od§V
am{hcm. Ë¶mV H$m¶ hmoD$ eH$Vo?
1) Wm¶am°p³gZ H$‘r à‘mUmV òdÊ¶mV ¶oB©c. 2) ñna‘°Q>mo{OZogrg CÎmo{OV hmoUma Zmhr.
3) ‘wcm§À¶m C§MrMr dmT> Hw§${R>V hmoB©c. 4) ‘°‘ar ½c±S>Mr dmT> CÎmo{OV hmoB©c.
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3) In an accident the anterior pituitary of a four-year-old was severely damaged but the boy survived.

What may happen?

1) Low level of thyroxine will be released. 2) Spermatogenesis will not be stimulated.

3) The boy will not grow much in height. 4) The growth of mammary gland will be stimulated

4) Wm`am°BS>oŠQ>m°‘rMr gdm©V dma§dma OrdKoUr Jw§VmJw§V ______ Amho.
1) aº$òmd 2) dma§dma ñda §̀ÌmMm ‘‚mmV§Vy njmKmV
3) OI‘oÀ`m g§gJ© 4) Wm`amoQ>m°pŠgH$ g§H$Q>

4) The most frequent life-threatening complication of thyroidectomy is ______.

1)  Haemorrhage 2)  Recurrent laryngeal Nerve paralysis

3)  Wound infection 4)  Thyrotoxic crisis

5) BÝgwcrZ aº$mVrb gmIaoMo à‘mU H$go H$‘r H$aVo ?
a) aº$mVrb gmIa emofyZ KoD$Z b) ½bm¶H$moOoZ V¶ma H$éZ
c) à{WZ g§ûmcofU H$éZ d) Ma~rMr gmR>dU H$éZ
n¶m©¶r CÎmao :
1) (a) Am{U (b) 2) (b) Am{U (d) 3) (a) Am{U (c) 4) (a), (b), (c) Am{U (d)

5) How does Insulin reduces blood glucose ?

a) Promoting uptake of glucose b) Glycogen formation

c) Protein synthesis d) Fat storage

Answer Options :

1) (a) and (b) 2) (b) and (d) 3) (a) and (c) 4) (a), (b), (c) and (d)

6) Imcrc g§àoaH$m§n¡H$s H$moUVo {dg§JV Amho?
1) ½cwH$moH$m°Q>uH$m°B©S> 2) àmoOoñQ>oam°Z 3) Q>oñQ>moñQ>oam°Z 4) BÝgwcrZ

6) Which of the following hormones is odd?

1) Glucocorticoid 2) Progesteron 3) Testosteron 4) Insulin

7) Imcrc {dYmZm§n¡H$s H$moUVo {dYmZ A¶mo½¶ Amho ?
1) Á¶m§Zm ~moìhrZ AWdm nmoagrZ Mo dmdS>o Amho Ë¶m§À¶mH$[aVm ‘mZdr BZñ¶w{cZ AË¶§V Cn¶wº$ R>aoc.
2) BÝñ¶w{cZ²Mm nwadR>m hm ‘mg H$maImÝ¶mVrc nwadR>m d JaOoda Adc§~yZ Zmhr.
3) nwZ:g§¶moOr S>r. EZ. E. Mo V§Ì OrZ Woanr‘Ü¶o ‘hÎdmMr ŷ{‘H$m ~OmdVo
4) B§Q>a’o$am°Z, ‘mZdmMo d¥Õrg§àoaH$ Am{U ‘mZdr¶ BZ²ñ¶w{cZ hr OZ{ZH$ A{^¶m§{ÌHo$Mr CËnmXZo hmoV.

7) Which of the following statements is not correct ?

1) Human insulin is useful for some diabetics who were allergic to bovine and/or porcine insulin.

2) The insulin supply was not dependant on supply and demand in the meat market.

3) Recombinant DNA techniques play an essential role in gene therapy.

4) Interferon, human growth hormone and human insulin are  products of genetic engineering.
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8) nwT>rc XmoZ {dYmZm§Mm {dMma H$am :
a) ‘mZdr¶ BÝñ¶w{cZ 1982 nmdoVmo CncãY ZìhVo.
b) Vmon¶ªV BÝñ¶w{cZ ‘m§g H$maImÝ¶mVyZ ‘w»¶ CËnmXZ åhUyZ CncãY ìhmd¶mMo.
darc H$moUVo {dYmZ ¶mo½¶ Amho ?
1) Ho$di (a) 2) Ho$di (b) 3) (a) d (b) XmoÝhr 4) (a) d (b) XmoÝhrhr Zmhr

8) Consider the following two statements :

a) Human insulin was not available until 1982.

b) Insulin until then was the major product of meat industry.

Now state which of the two above statements is correct ?

1) Only (a) 2) Only (b) 3) Both (a) 4)  Neither (a) nor (b)

9) nwT>rc XmoZ {dYmZm§n¡H$s H$moUVo ¶mo½¶ Amho ?
a) ‘m§g H$maImÝ¶mVyZ àmá hmoUmao BÝñ¶w{cZ H$Yrhr H$‘r nS>Uo e³¶ Zmhr.
b) B. H$mocm¶ noetnmgyZ {‘iUmao ‘mZdr¶ BZ²ñ¶w{cZ Mo ‘hÎd Ho$di {d{eï> àH$maÀ¶m S>m¶~o{Q>g² H$aVm Amho.
n¶m©¶r CÎmao …
1) Ho$di (a) 2) Ho$di (b) 3) (a) d (b) XmoÝhr 4) (a) d (b) XmoÝhrhr Zmhr

9) Which of the following two statements is correct ?

a) Insulin obtained as a product of meat industry could not have been in short supply.

b) Human insulin from recombinant E. Coli cells is important only because it is useful for some

particular diabetics.

Answer Options :

1) Only (a) 2) Only (b) 3) (a) and (b) both 4) Neither (a) nor (b)

10) ......... ho ‘mZdr earamVrb ‘w»` {‘ZabH$m°{Q©>H$m°BS> Amho.
1) goamoQ>mo{ZZ 2) A°ëS>moñQ>oam°Z 3) H$mo{Q©>gmob 4) A°§S´moOZ

10) ......... is the main mineralocorticoid in humans.

1) Serotonin 2) Aldosterone 3) Cortisol 4) Androgen

11) earamVrb aº$m‘Ü¶o nmÊ¶mMm A§e, gm‘mÝ¶V… AmT>iUmè¶m nmVirnojm H$‘r Pmë¶mg, ...... g§àoaH$ òdbm OmVmo.
1) {H«$E{Q>ZrZ 2) ao{ZZ 3) ìh°gmoào{gZ 4) A°ÝOrAmoQ>opÝgZ

11) hormone is released when water content of blood fluids is less than normal.

1)  Creatinine 2)  Renin 3) Vasopressin 4) Angiotensin

7) ‘mZdr CËgO©Z g§ñWm
1) EH$m {‘{ZQ>mV ‘yÌqnS>mVyZ {H$Vr a³V dmhVo?

1) 1 crQ>a 2) 0.75 crQ>a 3) 0.50 crQ>a 4) 0.25 crQ>a
1) How much blood flows through the kidneys per minute?

1) 1 litre 2) 0.75 litre 3) 0.50 litre 4) 0.25 litre
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2) Vrd« nmÊ`mÀ`m Zem~m~V H$m` Iao Amho?
1) ‘yÌme` 290/kg

2) ~mø noer ÐdnXmWm©À`m dmT>rd à‘mUmMm pŠb{ZH$b nwamdm
3) {ga‘ gmo{S>`‘ EH$mJ«Vm <130 mmol/L

4) gm‘mÝ` gmo{S>`‘ ŠcmoamBS>À`m 1 {bQ>abm Ëd[aV à{VgmX
2) What is true regarding acute water intoxication?

1)  Urinary osmolality 290/kg

2)  Clinical evidence of increased extracellular fluid volume

3)  Serum sodium concentration <130 mmol/L

4)  Prompt response to 1 L of normal sodium chloride

3) d¥̧ $ gm‘y {Z¶§{ÌV H$emÀ¶m ‘XVrZo H$aVmV ?
1) JiU ‘Ü¶o H 

+

ions  {‘idyZ 2) aº$m‘YyZ H
+

 ions H$mTy>Z
3) Ca

++

 Am{U Na
+

ions aº$m‘Ü¶o {daKidyZ 4) Ca
++ ions aº$m‘YyZ H$mTy>Z

3) Kidneys are helping to maintain pH balance by which of the following?

1) Adding hydrogen ions to filtrate   2) Removal of hydrogen ions from blood

3) Dissolving calcium and sodium ions in blood  4) Removing carbonate ions from blood

4) ‘mZdmÀ¶m earamVrb Z°’«$moÝg ‘Ü¶o ¶warZ ~Z{dÊ¶mMm ¶mo½¶ KQ>ZmH«$‘ H$moUVm ?
1) {gbo³Q>rìh [aA°~gm°~©eZ, Q>çw~wba {g{H«$eZ Am{U AëQ´>m{’$ëQ´>oeZ
2) AëQ´>m{’$ëQ´>oeZ, Q>çw~wba {g{H«$eZ Am{U {gcoŠQ>rìh [aA°~gm°~©eZ
3) AëQ´>m{’$ëQ´>oeZ, {gcoŠQ>rìh [aA°~gm°~©eZ Am{U Q>çw~wba {g{H«$eZ
4) Q>çw~wba {g{H«$eZ, {gcoŠQ>rìh [aA°~gm°~©eZ Am{U AëQ´>m{’$ëQ´>oeZ

4) In the nephron of man, what is the correct sequence of urine formation ?

1) Selective reabsorption, tubular secretion and ultrafiltration.

2) Ultrafiltration, tubular secretion and selective reabsorption

3) Ultrafiltration, selective reabsorption and tubular secretion

4) Tubular secretion, selectiv reabsorption and ultrafiltration

5) ẁ[a`m Mo dhZ H$moU H$aVo ?
1) OrdÐì¶ + aº$ 2) aº$+Am°pŠgOZ
3) Vm§~S>çm aº$ noer + H$m~©Z S>m¶ Am°ŠgmBS> 4) nm§T>è¶m aº$ noer + cmi

5) Urea is transported by :

1) Plasma + Blood 2) Blood + O
2

3) RBC + CO
2

4) WBC + Salivam

6) gm‘mÝ¶V: {H$S>Zr‘YyZ Imcrcn¡H$s H$emMo JmiU hmoV Zmhr?
1) A‘mo{Z¶m 2) ẁ[aH$ A°{gS> 3) nmUr 4) gmIa

6) Generally through kidney which of the following is not filtered?

1) Ammonia 2) Uric acid 3) Water 4) Sugar
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7) Imbrbn¡H$s H$moUVm/H$moUVo Zm¶Q´>moOZ¶wº$ Q>mH$mD$ nXmW© Zmhr/ZmhrV?
A) A‘mo{Z¶m ~) {H«$EQ>rZ H$) ẁ[a`m S>) {H«$EQ>rZmBZ
n¶m©¶r CÎmao …
1) A‘mo{Z¶m Am{U {H«$EQ>rZmBZ 2) ’$º$ {H«$EQ>rZ
3) ¶w[a¶m Am{U A‘mo{Z¶m 4) {H«$EQ>rZmBZ Am{U ¶w[a¶m

7) Which of the following is / are not a nitrogenous excretory waste?

a) Ammonia b) Creatine c) Urea d) Creatinine

Answer Options :

1) Ammonia and Creatinine 2) Only Creatine

3) Urea and Ammonia 4) Creatinine and Urea

8) àË òH$ ½bmo‘oébgÀ`m A{^dmhr Y‘ZrÀ`m OŠgQ>m½bmo‘oéba J«°Ý ẁbmogm noer àmoQ>rAmobmB{Q>H$ .............. E§PmB‘Mm
òmd H$aVmV
1) ao{ZZ 2) nopßgZ 3) {Q´pßgZ 4) ho gd©

8) The Juxtaglomerular Granulosa cells of the afferent arteriole of each glomerulus secrete the

proteolytic enzyme ......

1) Renin 2) Pepsin 3) Trypsin 4) All of these

9) _mZdr d¥̧ $m_Ü ò ({H$S>Zr_Ü ò) gmnS>Umè`m IS>çmV OmñV H$ê$Z ........... AgVo.
1) H°$pëeA_ Am°ŠgmcoQ> 2) gmo{S>A_ A°{gQ>oQ>
3) _°¾o{eA_ gë\o$Q> 4) nmoQ>°{eA_ Zm`Q´>oQ>

9) The stones found in human kidney mostly consists of ......

1) Calcium Oxalate 2) Sodium Acetate

3) Magnesium Sulphate 4) Potassium Nitrate

10) _mZdr {H$S>Ur ñQ>moZ_Ü ò AmT>iUmao EH$ _hÎdmMo amgm`{ZH$ g§̀ wJ ...... Amho.
1) ẁ[aH$ Amåc 2) H°$c{e`_ H$m~m}ZoQ>
3) H°$c{e`_ Am°ŠPcoQ> 4) H°$c{e`_ gë\o$Q>

10) The major chemical compound found in human kindney stone is ......

1) Uric acid 2) Calcium Carbonate

 3) Calcium oxalate 4) Calcium sulphate

11) Ooìhm {H$S>Ur (‘yÌqnS>) Q>¶yã¶yca nwZem}fU A¶eñdr hmoVo, Voìhm ^anya cKdr hmoVo. ¶m amoJmcm (M¶mnM¶ {dH$mamcm)
H$m¶ åhUVmV ?
1) ‘Yw‘oh ‘o{c²Vg 2) ‘Yw‘oh B[Ýg{nS>g
3) {H$emoad¶rZ 4) Zm°Z-BÝgw{cZ Adc§{~V ‘Yw‘oh ‘o{c²Vg

11) When kidney tubular reabsorption fails, copious urination follows. What is this disease

(metabolicdisorder) called ?

1) Diabetes mellitus 2) Diabetes insipidus

3) Juvenile onset diabetes 4) Non-insulin dependent diabetes mellitus
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12) jma {Z¶§ÌU ho ‘mZdr earamVrc ‘hÎdmMo H$m¶© A°S´>oZc J«§Wr H$Sy>Z Ho$co OmVo. Ë¶m H$moR>o {dgmdë¶m AgVmV?
1) ‘yÌqnS>m‘Ü¶o 2) ‘yÌqnS>mda
3) ‘yÌ qnS>mÀ¶m {déÕ ~mOyg 4) XmoÝhr ‘yÌqnS>m§‘Ü¶o

12) An important mechanism of salt regulation in human body is performed by adrenal glands which

are located

1) in the kidneys 2) over the kidneys

3) opposite to the kidneys 4) in between the two kidneys

13) Imcrcn¡H$s H$moUVm n¶m©¶ ~amo~a Amho?
1) JX© {ndio ‘yÌ - ‘oc°Ý¶y[a¶m 2) a§JhrZ ‘yÌ - {ZO©crH$aU
3) a³Va§J ‘yÌ - {h‘°À¶w[a¶m 4) {hadQ> a§JmMo ‘yÌ - ~rQ>  Imëë¶m‘wio

13) Which of the following matched is correct?

1) Dark yellow urine - Melanuria 2) Colourless urine - Dehydration

3) Bloody urine - Hamaturia 4) Greenish urine - Consumption of beet

14) .......... dJiVm gd© Zo’«$mo{Q>H$ qgS´mo‘Mr d¡{eï²> ò AmhoV.
1) àmoQ>rÝ ẁ[a`m 2) gyO
3) hm`naH$moboñQ>oamobo{‘`m 4) hm`nmoQ>oÝeZ

14) All are features of nephrotic syndrome except.

1) Proteinuria 2) Oedema

3) Hypercholesterolaemia 4) Hypotension

15) ............. dJiVm gd© H«$m°{ZH$ aoZb ’o$ë ẁAaMr d¡{eï²> ò AmhoV
1) Aeº$nUm 2) Cƒ aº$Xm~
3) bhmZ AmH$mamMo ‘yÌqnS> 4) nm°br ẁ[a`m

15) All are features of chronic renal failure except

1) Anaemia 2) Hypertension

3) Small size kidneys 4) Polyuria

16) Ooìhm {H$S>Ur (‘yÌqnS>) Q>¶yã¶yca nwZem}fU A¶eñdr hmoVo, Voìhm ^anya cKdr hmoVo. ¶m amoJmcm (M¶mnM¶ {dH$mamcm)
H$m¶ åhUVmV ?
1) ‘Yw‘oh ‘o{c²Vg 2) ‘Yw‘oh B[Ýg{nS>g
3) {H$emoad¶rZ 4) Zm°Z-BÝgw{cZ Adc§{~V ‘Yw‘oh ‘o{c²Vg

16) When kidney tubular reabsorption fails, copious urination follows. What is this disease

(metabolicdisorder) called ?

1) Diabetes mellitus 2) Diabetes insipidus

3) Juvenile onset diabetes 4) Non-insulin dependent diabetes mellitus
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8) nwZéËnmXZ g§ñWm
1) ‘mZdr OZwH$s¶ àH$ënmZo ~Z{dboë¶m S>oQ>m~og ‘Ü¶o àË¶oH$ ‘Zwî¶m‘Ü¶o A§XmOo ......... OZwH$ AmhoV.

1) 5000 2) 25000 3) 50000 4) 3 AãO
1) The Human Genome Project created a database comprising of roughly ...... genes in each human

being.

1) 5000 2) 25000 3) 50000 4) 3 billion

2) Imbrbn¡H$s H$moUVr n[apñWVr Xþgè¶m J^m©gmR>r YmoH$mXm¶H$ Agob ?
1) RH+ nwéf d RH- ór Mo {ddmh 2) RH- nwéf d RH+ ór Mo {ddmh
3) RH+ nwéf d RH+ ór Mo {ddmh 4) RH- nwéf d RH- ór Mo {ddmh

2) Which of the following situation will be fatal to second foetus ?

1) RH+ male marries RH- woman 2) RH- male marries RH+ woman

3) RH+ male marries RH+ woman 4) RH- male marries RH- woman

3) YmoH$mXm`H$ ßb°g|Q>m àopìh`m ho Zmd ______ ßc°g|Q>m àopìh`mbm {Xbo OmVo.
1) àH$ma I 2) àH$ma II 3) àH$ma III 4) àH$ma IV

3) Dangerous placenta praevia is the name given to ______ placenta praevia

1) Type I 2) Type II 3) Type III 4) Type IV

4) Zm`OobÀ`m gyÌmda AmYm[aV, àgyVr ‘w»`V… ______ nmgyZ gwê$ hmoVo.
1) Ano{jV VmarI 2) XmoÝhr ~mOybm 1 AmR>dS>m
3) 2 AmR>dS>o AmYr Am{U 1 AmR>dS>m Z§Va 4) 42 AmR>dS>çmV

4) Based on Naegele’s formula, labour starts mostly on ______.

1) The expected date 2) 1 week on either side

3) 2 weeks earlier and 1 week later 4) At 42 weeks

5) àm¡T> àmÊ`m§À¶m go{‘{Z’o$ag Q>çyã ỳëg‘Ü ò Agboë¶m H$moUË`m gyú‘ nm°{bhoS´b noer Q>oñQ>moñQ>oam°Z hm‘m}ZMm òmd
H$aVmV?
1) gQ>m}br noer 2) àmW{‘H$ ewH«$mUyOÝ` noer
3) B§Q>apñQ>{e`b gob/bo{S>J gob 4) ñn‘°©{Q>S²g

5) Microscopically which polyhedral cells observed between seminiferous tubules found mainly in

mature animal that secrete harmone testosterone?

1) Sertoli cells 2) Primary spermatocyte

3) Interstitial cells/Leyding cells 4) Spematids

6) d¥fU/d¥îU ho gmYmaUV… H$Yr A§S>H$moem‘Ü¶o CVaVmV?
1) ghm ‘{hZo 2) OÝ‘mÀ¶m doiog
3) VrZ ‘{hÝ¶mV OÝ‘mZ§Va 4) {H$emoa AdñWoV

6) The testes normally descend into the scrotum by about

1) 6 months 2) the time of birth

3) the age of 3 months 4) the time of puberty
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7) Q>opñQ>Š ẁba Q>çy‘aMo d¡{eï²>`nyU© d¡{eï²>` Imbrbn¡H$s H$moUVo Amho?
1) Q>opñQ>gÀ`m go{‘Zmo‘m‘Ü ò Q>opñQ>Š ẁba doXZm
2) XyañW ‘oQ>mñQ>ogogMr AZwnpñWVr
3) Q>oamQ>mo‘mÛmao Aë’$m-’o$Q>moàmoQ>rZ Am{U H«$m°{ZH$ JmoZmS>moQ´m°{nZMm òmd
4) d`mÀ`m 60 dfmªZ§Va nrH$ KQ>Zm

7) Which of the following is characteristic feature of testicular tumor?

1) Testicular pain in seminoma of testis

2) Absence of distant metastases

3) Secretion of alpha – fetoprotein and chronic gonadotropin by teratomas

4) Peak incidence after the age of 60 years

8) A±Q´b ’$m°{bH$b V`ma hmoÊ`mnmgyZ Vo ........ n¶ªVMm H$mbmdYr hm ’$m°{bŠ ẁba AdñWm åhUyZ AmoiIbr OmVo.
1) AmoìhþboeZ 2) ’${Q©>bm`PoeZ 3) Båßbm§Q>oeZ 4) J ©̂YmaUm

8) Which of the following is the follicular phase refer to the period from antral follicle formation

to ........

1) Ovulation 2) Fertilization 3) Implantation 4) Gestation

9) à{VÐì¶ d H$Ur¶ à{VOZm§À¶m ‘Yrb nañna {H«$¶m ‘YyZ V¶ma hmoUmè¶m Ñî¶ JwR>iUmbm ............ Ago åhUVmV.
1) MyfU 2) AdjonU 3) g‘yhZ 4) CU©Z

9) Interaction between antibody and particulate antigen that results in visible clumping is called ......

1) Blotting 2) Precipitation 3) Agglutination 4) Flocculation

10) OrdemómZwgma ZdOmV A ©̂H$m§Mo qcJ R>aco OmVo -
1) A ©̂H$mÀ`m _mVoH$Sy>Z 2) A ©̂H$mÀ`m {nË`mH$Sy>Z
3) A ©̂H$mÀ`m _mVm d {nË`mH$Sy>Z 4) na_oídamH$Sy>Z

10) According to Biology, the sex of a new born child is decided by

1) Child's mother 2) Child's father

3) Child's mother and father 4) Almighty God

11) gd© ‘m¡pIH$ J ©̂{ZamoYH$m§Mo nyU©nUo {damoYm^mg AmhoV ........ dJiVm.
1) Cƒ aº$Xm~ 2) g{H«$` `H¥$V amoJ
3) hm`na{Q´p½bg[aS>o{‘`m 4) ‘mJrb ñQ´moH$ / W«moå~moBå~mo{bH$ KQ>Zm

11) All are absolute contraindications of oral contraceptive except .........

1) Hypertension 2) Active liver disease

3) Hypertriglyceridemia 4) Previous stroke/Thromboembolic event

12) Imbrb gd© H$maUo àgyVrÀ`m àma§̂ mMr H$maUo AmhoV.
1) J^m©e`mÀ`m VmUm‘wio J°n O§ŠeZ àmo{Q>Ýg, Am°ŠgrQ>mo{gZMo [agoßQ>g© dmT>Vo
2) dmT>bobr CRH - dmT>bobr ACTH - dmT>bobr H$mo{Q©>gmob
3) {S>hm`S´moE{n`mÝS´moñQ>oam°Z gë’o$Q> (DHEA - S) Mo dmT>bobo J ©̂ CËnmXZ
4) BñQ´moOoZ‘Ü ò ~Xb hmoÊ`mEodOr àmoOoñQ>oam°Z‘Yrb KQ> Amho - àmoOoñQ>oam°Z JwUmoÎma nrOr g§l²bofUmg H$maUr ŷV R>aVo
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12) ALL of the following are causes for onset of labour EXCEPT:

1) Uterine stretch increases gap junction proteins, receptors for oxytocin

2) Increased CRH – Increased ACTH - Increased cortisol

3) Increased fetal production of Dehydroepiandrosterone sulfate (DHEA - S)

4) It is the fall in progesterone rather than alteration in the oestrogen – progesterone ratio causes

PG synthesis

13) àgy{Vnyd© aº$òmdmMo gdm©V gm‘mÝ` H$maU ______ Amho.
1) J^m©e`mMr Vrd«Vm 2) OZZ|{Ð`mÀ`m ‘mJm©da AmKmV
3) {Q>H$dyZ R>odboë`m D$Vr 4) aº$ H$moA°Jwbmon°Wr

13) The commonest cause of Postpartum Hemorrhage is ______.

1) Atonicity of uterus 2) Trauma to the genital tract

3) Retained tissues 4) Blood coagulopathy

14) Imbrbn¡H$s gd© COUVELAIRE UTERUS Mr d¡{eï²> ò AmhoV.
1) ho bn{dboë`m A~«y{nAmo ßbmg|Q>mMm EH$ J§̂ ra àH$ma Amho
2) J^m©e`mÀ`m ñZm ỳ§‘Ü ò aº$mMm ‘moR>çm à‘mUmV A§V…òmd hmoVmo.
3) pñWVrMo {ZXmZ Ho$di b°namoQ>m°‘rÛmao Ho$bo OmD$ eH$Vo
4) {gPo[a`Z goŠeZ Xaå`mZ AmT>iboë`m H$m¡doboa J^m©e`mMr CnpñWVr {hñQ>oaoŠQ>m°‘rgmR>r EH$ g§Ho$V Amho

14) ALL of the following are characteristics of COUVELAIRE UTERUS EXCEPT :

1) It is a severe form of concealed abruptio placenta

2) There is massive intravasation of blood into uterine musculature up to serous coat

3) The condition can only be diagnosed on laparotomy

4) The presence of Couvelaire uterus as observed during caesarian section is an indication perse

for hysterectomy

15) b°Q>ab ~Q>m°H$ Q°́ŠeZ Mr MmMUr Imbrbn¡H$s H$moUË`m àH$aUmV Ho$br OmVo?
1) b¢{JH$ g§~§Ym§Mm Amamon 2) gmoS>mo‘rMm ~ir 3) ZoH«$mo{’${b`mMm Amamon 4) ZoH«$mo{’${b`mMm ~ir

15) The test of “lateral buttock traction” is done in which of the following case?

1) Accused of sodomy 2) Victim of sodomy

3) Accused of necrophilia 4) Victim of necrophilia

16) Imbrbn¡H$s H$moUVo SAFE ‘Ü ò Jmoim Ho$bo OmV Zmhr?
1) ~w̧ $b ñd°~ 2) JwXÛmamg§~§YrMm KmgUo
3) ZIo ñH«°$qnJ 4) Ho$gm§Mm Jw§Vm

16) Which one of the following is NOT collected in SAFE?

1) Buccal swab 2) Anal swab

3) Nail scrapings 4) Hair combings

17) OÝ‘OmV {g{’$brgÀ`m g§e{`V àH$aUm§‘Ü ò "h{MÝgZ Q´m`S>' ‘Ü ò AndmX dJiVm gd© g‘m{dï> AmhoV :
1) ‘moR>çm A§Vamda Agbobo "noJ' AmH$mamMo XmV 2) Ý ỳamoZb ~{haonUm
3) B§Q>apñQ>{e`b Ho$am`{Q>g 4) Ho$amQ>moZg

17) The ‘Hutchinson’s triad’ in suspected cases of congenital syphilis includes ALL EXCEPT:

1) Widely spaced ‘Peg’ shaped teeth 2) Neuronal deafness

3) Interstitial keratitis 4) Keratonus
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9) OI‘m, q’$JaqàQ
1) eó{H«$¶oXaå¶mZ dmnabo OmUmao H$moUË¶m àH$maMo Q>mHo$ earamÀ`m D$Vt‘Ü ò emofbo OmV ZmhrV?

1) H$m§Jmê$ Q>|S>m°Z 2) Zm{^H$ Q>on 3) H°$Q>JQ> 4) darb gd©
1) Which suture material is not absorbed into the body tissues?

1) Kangaroo tendon 2) Umbilical tape 3) Catgut 4) All of the above

2) ^maVmV q’$JaqàQ>À¶m dJuH$aUmgmR>r ‘w»¶V… Imbrbn¡H$s H$moUVr ì¶dñWm dmnabr OmVo ?
1) hoÝar {gñQ>r‘ 2) amoeba {gñQ>r‘ 3) ã¶wgo{Q>H$ {gñQ>r‘ 4) darbn¡H$s H$moUVohr Zmhr

2) In India, which of the following major systems has been used for classification of the fingerprints?

1) Henry system 2) Roschler system 3) Vucetich system 4) None of the above

3) MoBbmoñH$monr .......... Mm Aä¶mg Amho.
1) ZIm§Mo R>go 2) nm¶m§Mo R>go 3) AmoR>m§Mo R>go 4) Q>miyMo R>go

3) Cheiloscopy is the study of ......

1) Nail Prints 2) Foot Prints 3) Lip Prints 4) Palato Prints

4) Imbrbn¡H$s H$moUVr "doQ> ‘oWS>' nÕV hr boQ>|Q> q’$JaqàQ> S>oìhbn‘|Q> gmR>r dmnabr OmVo ?
1) Am°pŠgS>oeZ nÕV 2) {S>hm¶S´>oeZ nÕV
3) S>m¶PmoâbwAmo[aZ nÕV 4) Q´>oqgJ nÕV

4) Which of the following ‘Wet methods’ has been used for Latent fingerprint development ?

1) Oxidation method 2) Dehydration method

3) Diazofluorine method 4) Tracing method

5) Imbrb {dYmZm§n¡H$s H$moUVo {dYmZ/{dYmZo q’$JaqàqQ>J nÕV g§~§YmV ~amo~a Amho/V ?
A) q’$JaqàqQ>Jbm S>°p³Q>bmoJ«m’$s Ago gwÕm åhUVmV.
~) bwwßg (65%) àH$ma q’$JaqàqQ>J ‘Ü¶o EH$X‘ gmYmaU nUo AmT>iVmo.
H$) q’$JaqàqQ>J nÕV {nV¥Ëd {ddmXmÀ¶m àH$aUm‘Ü¶o dmnabr OmVo.
n¶m©¶r CÎmao …
1) ’$º$ A 2 ’$º$ A Am{U H$ 3) ’$º$ ~ 4) ’$º$ A Am{U ~

5) Which of the following statements regarding fingerprinting method is/are correct ?

a) Fingerprinting is also known as Dactylography.

b) Loops (65%) is the most common type of fingerprinting.

c) Fingerprinting method is used in cases of paternity disputes.

Answer Options :

1) Only a 2) Only a and c 3) Only b 4) Only a and b

6) EImXr em°Q>JZ 60 Vo 90 go‘r A§Vamdê$Z S>mJbr AgVm hmoUmè¶m àdoer OI‘o ^modVr ...... {XgyZ ¶oB©b.
1) ’$º$ Oimbobo 2) ’$º$ H$mio nS>bobo 3) ’$º$ Jm|Xbobo 4) darb gd©

6) If a shotgun is fired from distance of 60 to 90 cm, the entry wound will show presence of ......

1) Only burning 2) Only blackening 3) Only tattooing 4) All of the above
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7) Imbrb {dYmZmMm ‘JtJ g§~§{YV H$am …
A) ‘JtJ åhUOo ì¶º$sMm Jim ~m§~yÀ`m H$mR>r Zo Xm~Uo.
~) ‘JtJbm Am‘© bm°H$ Ago gwÕm åhUVmV.
darbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo ~amo~a Amho/V ?
1) ’$º$ A 2) ’$º$ ~ 3) XmoÝhr A Am{U ~ 4) darbn¡H$s H$moUVohr Zmhr

7) Consider the following statements regarding Mugging :

a) Mugging means compressing the neck of the person using bamboo stick.

b) Mugging is also known as Arm Lock.

Which of the statements given above is/are correct ?

1) Only a 2) Only b 3) Both a and b 4) None of the above

8) ^maVr¶ X§S> g§{hVm, 1860 AZwgma Imbrbn¡H$s H$moUVr Jmoï> J§̂ ra BOm ‘mZbr OmB©b?
A) nw§ñËdhaU H$aUo ~) hmS>m§Mo OmoS> {dñH$irV H$aUo/g§Yr {dÀN>oX H$) Ho$g H$mT>Uo
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ’$º$ ~ Am{U H$ 4) gd© A, ~, H$

8) As per the Indian Penal Code, 1860, which of the following amounts to Grievous Hurt ?

a) Emasculation b) Privation of any joints c) Removal of hair

Answer Options :

1) Only a 2) Only a and b 3) Only b and c 4) All a, b, c

10) ‘¥Ë¶y, ed{M{H$Ëgm
1) ^maVmVrb n{hbr Ý¶m¶d¡ÚH$s¶ ed{M{H$Ëgm ............ gmbr H$aÊ¶mV Ambr.

1) 1693 2) 1897 3) 1857 4) darbn¡H$s H$moUVohr Zmhr
1) The first medicolegal autopsy in India was done in

1) 1693 2) 1897 3) 1857 4) None of the above

2) JoQ>bg© MmMUrMm dmna .............. ¶m àH$maÀ¶m ‘¥Ë ỳ‘Ü ò H$aÊ¶mV ¶oVmo.
1) Ji’$mg 2) Jim AmdiUo 3) nmÊ¶mV ~wS>Uo 4) {df~mYm

2) Gettler’s test is used in death due to ......

1) Hanging 2) Strangulation 3) Drowning 4) Poisoning

3) Imbrb {dYmZm§Mm edmoËIZZ g§~§{YV {dMma H$am …
A) edmoËIZZ åhUOo O{‘ZrVyZ ‘¥V eara ~mhoa H$mT>Uo.
~) H$m¶©H$mar X§S>m{YH$mar ¶m§Mr H$m¶Xoera nadmZJr Amdí¶H$ AgVo.
H$) ^maVm‘Ü¶o edmoËIZZ H$aÊ¶mgmR>r 10 dfmªMr ‘¶m©Xm AgVo.
darbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo ~amo~a Amho/ ?
1) ’$º$ A 2) ’$º$ A Am{U H$ 3) ’$º$ A Am{U ~ 4) ’$º$ H$

3) Consider the following statements regarding Exhumation :

a) Exhumation means digging of dead body from ground.

b) Authorization is required from Executive Magistrate.

c) In India, there is 10 years of limit for Exhumation.

Which of the statements given above is/are correct ?

1) Only a 2) Only a and e 3) Only a and b 4) Only c
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4) ^maVr¶ gmjr nwamì¶mÀ¶m H$m¶ÚmV ''‘¥Ë ẁnyd© O~m~'' ¶m g§H$ënZoMr ì¶m»¶m {Xbr Amho H$m?
A) hmo¶
~) Zmhr
H$) Ë¶mMr ì¶m»¶m gd©gmYmaU dm³I§S> A{Y{Z¶‘, 1897 ‘Ü¶o Amho.
S>) ^maVr¶ X§S> g§{hVoV Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo ~amo~a Amho/V?
1) ’$º$ A Am{U H$ 2) ’$º$ ~ 3) ’$º$ A Am{U S> 4) ’$º$ S>

4) Is the term "Dying Declaration" defined in the Indian Evidence Act ?

a) Yes

b) No

c) It is defined in the General Clauses Act, 1897.

d) Itis in the Indian Penal Code.

Which of the statements given above is/are correct ?

1) Only a and c 2) Only b 3) Only a and d 4) Only d

5) ^maVr¶ nwamdm A{Y{Z¶‘mZwgma ‘¥Ë ẁnyd© O~m~ hm enWoda {Xboë¶m nwamì¶m g‘mZ AgVmo. ho dm³¶ ...... Amho.
1) ~amo~a 2) MyH$ 3) J¡abmJy 4) darbn¡H$s H$moUVohr Zmhr

5) As per the Indian Evidence Act, Dying Declaration is on par with evidence on cath. This statement

is .........

1) correct 2) wrong 3) irrelevant 4) None of the above

11) ~bmËH$ma, J ©̂nmV, qbJ{ZXmZ MmMUr
1) ^maVr¶ X§S> g§{hVm 376 A~ à‘mUo {ejm {Xbr OmD$ eH$Vo Oa ~{iV órMo d¶ ............ df} nojm H$‘r Agob.

1) 12 2) 15 3) 16 4) 18
1) IPC 376AB deals with punishment for rape on awoman under ...... years age.

1) 12 2) 15 3) 16 4) 18

2) ’$m¡OXmar à{H«$¶m g§{hVoÀ¶m Imbrbn¡H$s H$moUË¶m VaVwXr A§VJ©V ~bmËH$mamMm Amamon AgUmè¶m ì¶º$sMo d¡ÚH$s¶
VnmgUr hmoVo?
1) 53A 2) 50A 3) 55A 4) 54A

2) Under which of the following sections of the Criminal Procedure Code is the medical examination

of a person accused of rape is conducted ?

1) 538A 2) 50A 38) 55A 4) 54A

3) J ©̂YmaUmnyd© Am{U àgy{Vnyd© qbJ{ZXmZ MmMUr V§Ì H$m¶Xm, 1994 ‘Yrb Imbrbn¡H$s H$moUVo H$b‘ amÁ¶ n¶©dojH$s¶
‘§S>i Am{U H|$Ðem{gV àXoe n¶©dojH$ ‘§S>imÀ¶m ñWmnZoer g§~§{YV Amho ?
1) 16A 2) 20 3) 20A 4) darbn¡H$s H$moUVohr Zmhr

3) Which of the following sections of Pre-Conception and Pre-Natal Diagnostic Techniques Act,

1994 deals with Constitution of State Supervisory Board and Union Territory Supervisory Board?

1) 16A 2) 20 3) 20A 4) None of the above
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4) J ©̂YmaUmnyd© Am{U àgdnyd© {ZXmZ V§Ì A{Y{Z¶‘, 1994 À¶m H$b‘ 4-3 (i) Zwgma àgdnyd© {ZXmZ V§Ì, J ©̂dVr
‘{hboMo d¶ ........... dfm©nojm OmñV Agë¶mg dmnaVm ¶oVmo.
1) EH$moUrg 2) n§Mdrg 3) EH$drg 4) nñVrg

4) As per Section 4-3(i) of Pre-Conception and Pre-Natal Diagnostic Techniques Act, 1994, pre-

natal diagnostic can be conducted on the pregnant woman if her age is above ...... years.

1) nineteen 2) twenty-five 3) twenty-one 4) thirty-five

5) EImXm nwéf Oa órÀ`m BÀN>o{déÕ qH$dm {VÀ¶m g§‘Vr{edm¶ {VÀ¶mer ...... Ad¶dm§n¡H$s H$moUË¶m Ad¶dmg§~§Yr b¢{JH$
g§̂ moJ H$aV Agob Vmo ~bmËH$ma hmoVmo.
A) ¶moZrg§~§Yr g§̂ moJ ~) ~o‘m¡{IH$ g§̂ moJ H$) JwXm g§̂ moJ
¶mo½¶ n¶m©¶ {ZdS>m.
1) gd© A, ~ d H$ 2) ’$º$ A d ~ 3) ’$º$ ~ d H$ 4) ’$º$ A

5) A man is said to commit an offence of rape if he penetrates his penis into ...... against the will or

consent of a woman.

a) the vagina b) the urethral mouth c) the anus

Choose correct option.

1) All a, b and c 2) Only a and b 3) Only b and c 4) Only a

6) Imbrb {dYmZm§Mo AdbmoH$Z H$am …
{dYmZ I … J ©̂YmaUm nyd© Am{U àgdnyd© {ZXmZV§Ì H$m¶ÚmMo H$b‘ 18 'H|$Ðr¶ n¶©dojr ‘§S>imÀ¶m' A§VJ©V gXñ¶m§À¶m
nmÌVoer g§~§{YV Amho.
{dYmZ II … gXa ~m~VrV {d{hV AQ>tZwgma {Z¶wº$ Ho$bobo Ago gXñ¶ nwZ{Z©¶wº$sgmR>r nmÌ ZgVrb.
n¶m©¶r CÎmao …
1) {dYmZ I ~amo~a Amho; II MyH$ Amho 2) {dYmZ II ~amo~a Amho; I MyH$ Amho
3) XmoÝhr {dYmZo ~amo~a AmhoV 4) XmoÝhr {dYmZo MyH$ AmhoV

6) Observe the following statements :

Statement I : Section 18 of the Pre-Conception and Pre-Natal Diagnostic Techniques Act deals

with eligibility of the members under ‘Central Supervisory Board’.

Statement II : Such members are appointed as per the terms prescribed and shall not be eligible

for reappointment.

Answer Options :

1) Statement I is correct; II is incorrect 2) Statement II is correct; I is incorrect

3) Both the statements are correct 4) Both the statements are incorrect

12) AZwdm§{eH$Vm, amoJà{VH$maH$Vm
1) nëg nmo{bAmo bgrH$aU H$m ©̀H«$‘mMr bú` bmoH$g§»`m _______ Amho.

1) ‘wbo < 5 df} d` 2) ‘wbo > 5 df}
3) < 1 dfm©nojm H$‘r d`mMr ‘wbo 4) emioV OmUmar ‘wbo

1) The target population of pulse polio immunization programme is ______.

1) Children < 5 years of age 2) Children > 5 years of age

3) Children < 1 year of age 4) School going children
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2) Or bg ’$º$ 1 dfm©n ª̀V {Xbr OmVo Vr _______ Amho.
1) TT vaccine 2) OPV 3) BCG 4) DPT

2) The vaccine that is given only up to 1 year of age is ______.

1) TT vaccine 2) OPV 3) BCG 4) DPT

3) ______`m§Zm EH${ÌVnUo O¡{dH$ àmo’$mBb åhUyZ g§~moYbo OmVo.
1) d`, qbJ, d§e Am{U C§Mr 2) d`, qbJ, Y‘© Am{U ì`dgm`
3) qbJ, d§e, Y‘© Am{U C§Mr 4) d`, d§e, ì`dgm` Am{U C§Mr

3) ______ are collectively referred to as the biological profile.

1) Age, sex, ancestry and stature 2) Age, sex, religion and occupation

3) Sex, ancestry, religion and stature 4) Age, ancestry, occupation and stature

4) hS>© Bå ẁ{ZQ>r ‘Ü ò {XgV Zmhr
1) {S>ßWr[a`m 2) YZwdm©V 3) Jmoda 4) nmo{bAmo

4) Herd immunity is not seen in

1) Diphtheria 2) Tetanus 3) Measles 4) Polio

5) ES²g hm .......... Bå ẁZmoS>o{’${eAÝgr AmOma Amho.
1) ‘mÜ`{‘H$ 2) àmW{‘H$ 3) àmXo{eH$ 4) MVŵ w©O

5) AIDS is a .......... immunodeficiency disease.

1) Secondary 2) Primary 3) Tertiary 4) Quatenary

6) ao~rO Bå ẁZmo½bmo~w{bZ g§~§Yr Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV/AmhoV?
a) nmoñQ> EŠgnmoOa àmo{’$b°pŠgg gwê$ Ho$ë`mZ§Va eŠ` {VVŠ`m bdH$a EH$XmM àem{gV Ho$bo nm{hOo.
b) ho gd© OI‘oÀ`m {R>H$mUr qH$dm Amgnmg àem{gV Ho$bo nm{hOo.
c) Amdí`H$ Bå ẁZmo½bmoã ẁ{bZ àem{gV H$aÊ`mnydu ËdMm MmMUr H$aÊ`mgmR>r H$moUVohr d¡km{ZH$ H$maU Zmhr.
d) A±Q>r ao~rO bgrMm n{hbm S>mog {Xë`mZ§Va 15 {Xdgm§Zr ho {’$b àem{gV Ho$bo OmD$ eH$Vo.
n¶m©¶r CÎmao …
1) ’$º$ a 2) a  Am{U b ’$º$ 3) a, b Am{U d ’$º$ 4) a, b Am{U c ’$º$

6) Which of the following statements regarding rabies immunoglobulin is/are true ?

a) If should be administered only once as soon as possible after initiation of post exposure

prophylaxis.

b) It should be administered all into or around the wound sites.

c) There is no scientific ground for performing a skin test prior to administering required

immunoglobulin.

d) It can be administered fill 15 days after the first dose of anti rabies vaccine.

Answer Options :

1) a only 2) a and b only 3) a, b and d only 4) a, b and c only

7) n±Q>mìh°b|Q> bg Imbrbn¡H$s H$moUË`m amoJmnmgyZ g§ajU XoVo?
1) {S>ßWr[a`m, noQ>çw©{gg, j`amoJ, Jmoda Am{U {hn°Q>m`Q>rg ~r
2) {S>ßWr[a`m, noQ>çw©{gg, {Q>Q>°Zg, {hn°Q>m`Q>rg ~r Am{U EMAm`~r
3) {S>ßWr[a`m, noQw>©{gg, Jmoda, {hn°Q>m`Q>rg ~r Am{U é~obm
4) {S>ßWr[a`m, noQ>çw©{gg, Jmoda, {hn°Q>m`Q>rg ~r Am{U EMAm`~r.
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7) Pantavalent vaccine provides protection against which of the following disease ?

1) Diphtheria, Pertussis, Tuberculosis, Measles and Hepatitis B

2) Diphtheria, Pertussis, Tetanus, Hepatitis B and Hib

3) Diphtheria, Pertussis, Measles, Hepatitis B and Rubella

4) Diphtheria, Pertussis, Measles, Hepatitis B and Hib.

8) AmonZ pìh`b nm°{bgr Imbrbn¡H$s H$moUË`m bgtZm bmJy hmoVo?
a) ~rgrOr b) {hn°Q>m`Q>rg B c) S>rnrQ>r d) Jmoda/MR

n¶m©¶r CÎmao …
1) a ’$º$ 2) b Am{U c ’$º$ 3) a Am{U d ’$º$ 4) c ’$º$

8) Open vial policy applies to which of the following vaccines ?

a) BCG b) Hepatitis B c) DPT d) Measles/MR

Answer Options :

1) a only 2)  b and c only 3) a and d only 4) c only

9) Ý ỳ‘moH$moH$b Ý ỳ‘mo{Z`m bg (PPV 23) Imbrbn¡H$s H$moUË`m JQ>mgmR>r {e’$mag Ho$br OmVo?
a) 2 dfm©Imbrb ‘wbo b) Á`m§Zm {gH$bgob AmOma Amho
c) Á`m§Zr ñßboZoŠQ>mo‘r Ho$br Amho d) Bå ẁZmo VS>OmoS> Ho$boë`m ì`º$s
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3)  b Am{U c  ’$º$ 4)  b, c Am{U d ’$º$

9) Pneumococcal Pneumonia Vaccine (PPV 23) is recommended for which of the following groups?

a) Children under 2 years of ages b) Those who have sickle cell disease

c) Those who have undergone splenectomy d) Immuno compromised individuals

Answer Options :

1) a only 2) a and b only 3) b and c only 4) b, c and d only

10) Imbrbn¡H$s H$moUVo gmoam`{gg ~Ôb VÏ` Xe©dV Zmhr?
1) Oa nmbH$m§n¡H$s EH$mbm ~m{YV Pmbo Agob Va ‘wbmbm hm AmOma hmoÊ`mMr 50% eŠ`Vm AgVo
2) goë ẁba KwgImoar gm‘mÝ`V: {bå’$mogmB{Q>H$ AgVo
3) Zob {nqQ>J {S>ñQ>b B§Q>a’o$b|{O`b AmW«m}n°Wrer g§~§{YV Amho
4) gw‘mao 5% é½U AmW«m}n°Wr {dH${gV H$aVmV

10) Which among the following do NOT represents fact about psoriasis?

1) If one of the parents is affected, then the child has 50% chance of developing the disease

2) Cellular infiltrate is typically lymphocytic

3) Nail pitting is associated with distal interphalangeal arthropathy

4) About 5% of patient develop arthropathy

11) Q>°ZaMr àVdmar ______ da AmYm[aV Amho.
1) dm§{eH$ ôX^md 2) d` n[an¹$Vm 3) qbJ {^ÞVm 4) b¢{JH$ n[an¹$Vm

11) Tanner’s grading is based on ______.

1) Racial differentiation 2) Age maturation

3) Sex differentiation 4) Sexual maturation
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12) Imbrbn¡H$s H$moUVr {d{eï> aMZm gwemo{^V à{H«$ ò‘Ü ò dmnabr OmV Zmhr?
1) g§ajH$ 2) ~’$a 3) H$moaS>o H$aUmao EO§Q> 4) naâ ỳ‘

12) Which of the following is NOT a typical composition used in embalming procedures?

1) Preservative 2) Buffer 3) Drying agent 4) Perfume

13) Ho$gm§Mo JmobmH$ma H«$m°g-goŠeZ doJio H$aUmao d¡{eï²>` Imbrbn¡H$s H$moUË`m d§embm Xwgè`mnmgyZ doJio H$aVo?
1) ‘§Jmo{b`Z 2) {ZJ«mo 3) H$m°Ho${e`Z 4) Am°ñQó{b`Z

13) “Round” cross-section differentiating feature of hair differentiates which of the following race

from another?

1) Mongolian 2) Negro 3) Caucasians 4) Australian
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CÎmao … ‘mZdr Ordemó, Amamo½¶ Am{U Amhma{dkmZ

(1) ‘mZdr eara - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm,
ñZm¶y d ApñWg§ñWm

1) ‘mZdr MoVmg§ñWm, ‘Zmoé½U
1-2 2-1 3-4 4-3 5-2 6-4 7-2 8-4 9-1 10-4
11-3 12-1 13-3 14-3 15-3 16-2 17-3 18-3 19-2 20-4

g§doXZ g§ñWm
1-3 2-3 3-2 4-1 5-1 6-2 7-4 8-4 9-4 10-4
11-2 12-2 13-1 14-3 15-2

2) ‘mZdr nMZg§ñWm
1-4 2-2 3-4 4-1 5-3 6-3 7-1 8-1 9-1 10-2
11-4 12-3 13-1 14-4 15-3 16-2

3) ‘mZdr ídgZg§ñWm
1-2 2-3 3-2 4-2 5-3 6-3 7-4 8-2 9-3

4) ‘mZdr aº$, é{Yam{^gaU
1-3 2-3 3-3 4-3 5-2 6-2 7-4 8-3 9-3 10-1

11-3 12-1 13-4 14-1 15-3 16-3 17-3 18-4 19-4 20-1
21-2 22-1 23-4 24-4 25-2 26-3 27-2 28-3 29-2 30-3
31-2 32-2 33-3 34-3 35-3 36-2 37-1 38-3

5) ‘mZdr ñZm¶y d AñWr g§ñWm
1-4 2-3 3-1 4-3 5-3 6-1 7-4 8-4 9-2 10-2
11-3 12-3 13-2 14-1 15-2 16-4 17-4 18-1 19-4 20-3
21-4 22-4 23-3 24-3 25-1 26-1 27-1 28-4 29-2 30-2
31-1 32-3 33-4 34-4 35-1 36-3 37-3 38-4
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6) ‘mZdr A§V…òmdrg§ñWm
1-3 2-2 3-3 4-1 5-4 6-4 7-2 8-4 9-4 10-2
11-3

7) ‘mZdr CËgO©Z g§ñWm
1-1 2-3 3-2 4-3 5-1 6-4 7-2 8-1 9-1 10-3

11-2 12-2 13-3 14-4 15-4 16-2

8) nwZéËnmXZ g§ñWm
1-2 2-1 3-2 4-3 5-3 6-2 7-3 8-1 9-3 10-2
11-1 12-4 13-1 14-4 15-2 16-4 17-4

9) OI‘m, q’$JaqàQ
1-2 2-1 3-3 4-3 5-4 6-3 7-2 8-2

10) ‘¥Ë¶y, ed{M{H$Ëgm
1-1 2-3 3-3 4-2 5-1

11) ~bmËH$ma, J ©̂nmV, qbJ{ZXmZ MmMUr
1-1 2-1 3-1 4-4 5-1 6-4

12) AZwdm§{eH$Vm, amoJà{VH$maH$Vm
1-1 2-3 3-1 4-2 5-1 6-4 7-2 8-2 9-3 10-1
11-4 12-3 13-1


